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SETS

Example

1. Explain the difference between a collection and

a set. Justify your answer.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mMHL3XgYQ9JV


2. Write the set of all vowels in the English

alphabet which precede r.

Watch Video Solution

3. Write the set of all positive integers whose cube

is odd.

Watch Video Solution

4. Write the set of all real numbers , which can not

be written as the quotient of two integers in the

https://dl.doubtnut.com/l/_BBVgRr6OgRzu
https://dl.doubtnut.com/l/_CG1hARC8qtSD
https://dl.doubtnut.com/l/_spiBu22yW4Fi


Set Builder Form.

Watch Video Solution

5. Write the set  in the Set

Builder Form.

Watch Video Solution
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6. Write the set {x : x is a positive integer and

} in the Roster Form.

Watch Video Solution

x2 < 40

https://dl.doubtnut.com/l/_spiBu22yW4Fi
https://dl.doubtnut.com/l/_sK3TnRIsbzVY
https://dl.doubtnut.com/l/_lw6sr6mX8r0Y


7. Write the set {1, 4, 9, 16, 25, ....} in Set Builder

Form.

Watch Video Solution

8. Write the solution set of the equation :

 in Roster Form.

Watch Video Solution

x2 + x − 2 = 0

9. Match each of the set on the left in the Roster

Form with the same set on the right described in

https://dl.doubtnut.com/l/_mr3lkCQdObmS
https://dl.doubtnut.com/l/_UFL8qVfvL4N4
https://dl.doubtnut.com/l/_7yPNd94UKfOy


the Set Builder form : 

Watch Video Solution

10. Which of the following sets are finite or

infinite:- The set of months of a year

Watch Video Solution

https://dl.doubtnut.com/l/_7yPNd94UKfOy
https://dl.doubtnut.com/l/_CnS36Z6tTeQ1


11. Which of the following sets are finite or

infinite:- {1,2,3....}

Watch Video Solution

12. Which of the following sets are finite or

infinite:- {1,2, 3,...99, 100}

Watch Video Solution

13. State whether each of the following set is finite

or infinite: The set of numbers which are multiple

https://dl.doubtnut.com/l/_mwW6Zm7Kt8Q1
https://dl.doubtnut.com/l/_WckcwLL0MLu5
https://dl.doubtnut.com/l/_TRUF4jT8YYjE


of 5

Watch Video Solution

14. State whether the following set is finite or

infinite : The set of prime numbers less than 50.

Watch Video Solution

15. State whether the following set is finite or

infinite : The set of positive integers greater than

50.

Watch Video Solution

https://dl.doubtnut.com/l/_TRUF4jT8YYjE
https://dl.doubtnut.com/l/_kB0ShlK3AqhV
https://dl.doubtnut.com/l/_IF6wlqlYLh3Z


16. State whether the following set is finite or

infinite : The set of concentric circles in a plane.

Watch Video Solution

17. State whether the following set is finite or

infinite : A= {x:x  N and }

Watch Video Solution

∈ x2 − 3x + 2 = 0

https://dl.doubtnut.com/l/_IF6wlqlYLh3Z
https://dl.doubtnut.com/l/_v0ZmA3X4q4OA
https://dl.doubtnut.com/l/_ZlpLxeyZ1g5g


18. State whether the following set is finite or

infinite : B= {x:x  N and }

Watch Video Solution

∈ x2 = 9

19. State whether the following set is finite or

infinite : C= {x:x  N and x is even }

Watch Video Solution

∈

20. State whether the following set is finite or

infinite : D= {x:x  N and 2x-3=0}.∈

https://dl.doubtnut.com/l/_NDoDEvoizhMv
https://dl.doubtnut.com/l/_7mWE6sP1bv3l
https://dl.doubtnut.com/l/_4HUX2qEBOuuG


Watch Video Solution

21. Which of the following are examples of the null

set :- Set of odd natural numbers divisible by 2

Watch Video Solution

22. Whether the following is empty (null) set? 

{x:x < 5 and x>7, x  N}

Watch Video Solution

∈

https://dl.doubtnut.com/l/_4HUX2qEBOuuG
https://dl.doubtnut.com/l/_CFJg9qXkwA2F
https://dl.doubtnut.com/l/_jrdYaeCxUhwl


23. Whether the following is empty (null) set? 

{  and x is an odd integer}

Watch Video Solution

x : x2 = 25

24. Whether the following is empty (null) set? 

{  and x is rational}

Watch Video Solution

x : x2 − 2 = 0

25. Whether the following is empty (null) set? 

{x:x is common point of any two parallel lines}.

https://dl.doubtnut.com/l/_Id8ClQpJ67Fu
https://dl.doubtnut.com/l/_H0I6qZuhmg5S
https://dl.doubtnut.com/l/_Q9dKwbQqSTou


Watch Video Solution

26. What is the set : 

?

Watch Video Solution

{x : x ∈ R, x2 = 9, 2x = 4}

27. Find the pairs of equal sets from the following

sets , if any, giving reason :

,A = {0}, B = {x : x > 15 and x < 5}

C = {x : x − 5 = 0}, D = {x : x2 = 25}, E = {x : x

https://dl.doubtnut.com/l/_Q9dKwbQqSTou
https://dl.doubtnut.com/l/_sUwl8872KQMW
https://dl.doubtnut.com/l/_Vd0BKzeoLCSX


is an integral positive root of the equation

} .

Watch Video Solution

x2 − 2x − 15 = 0

28. Are the following pairs of sets equal ? Give

reasons. 

A={2,3}, B={x:x is solution of }

Watch Video Solution

x2 + 3x + 2 = 0

29. Are the following pair of sets equal ? Give

reasons. A = { x : x is a letter in the word FOLLOW}

https://dl.doubtnut.com/l/_Vd0BKzeoLCSX
https://dl.doubtnut.com/l/_60RA0vPUkK9g
https://dl.doubtnut.com/l/_fP3pSyhLZnxo


B = { y : y is a letter in the word WOLF}

Watch Video Solution

30. Consider the following set :

Insert the correct symbol  or  between

pair of sets : .

Watch Video Solution

ϕ, A = {1, 3}, B = {1, 5, 9}, C = {1, 3, 5, 7, 9}.

⊂ ⊂

ϕ............. . B

31. Consider the following set :

.ϕ, A = {1, 3}, B = {1, 5, 9}, C = {1, 3, 5, 7, 9}

https://dl.doubtnut.com/l/_fP3pSyhLZnxo
https://dl.doubtnut.com/l/_x6bbNcThsQIV
https://dl.doubtnut.com/l/_S2GAPp2XZtsa


Insert the correct symbol  or  between

pair of sets : A.........B.

Watch Video Solution

⊂ ⊂

32. Consider the following set :

Insert the correct symbol  or  between

pair of sets : A.........C.

Watch Video Solution

ϕ, A = {1, 3}, B = {1, 5, 9}, C = {1, 3, 5, 7, 9}.

⊂ ⊂

https://dl.doubtnut.com/l/_S2GAPp2XZtsa
https://dl.doubtnut.com/l/_SU72OB1d14QP


33. Consider the following set :

Insert the correct symbol  or  between

pair of sets : B.........C.

Watch Video Solution

ϕ, A = {1, 3}, B = {1, 5, 9}, C = {1, 3, 5, 7, 9}.

⊂ ⊂

34. List all the subsets of the set {- 1, 0, 1}.

Watch Video Solution

https://dl.doubtnut.com/l/_EyC3TN9m7sdQ
https://dl.doubtnut.com/l/_UvIgDg0kjNrw


35. Let A = {p, q, r,s}, B = {p, q, r} and C = {q, s}. Find

all sets X such that :  and 

Watch Video Solution

X ⊂ B X ⊂ C

36. Let A = {p, q, r,s}, B = {p, q, r} and C = {q, s}. Find

all sets X such that :  and  .

Watch Video Solution

X ⊂ A X ⊂ B

37. Let A, B and C be three sets. If  and 

, is it true that  ? If not, give an

A ∈ B

B ⊂ C A ⊂ C

https://dl.doubtnut.com/l/_n0aiO2hxuCYR
https://dl.doubtnut.com/l/_9jQCTjxACK9r
https://dl.doubtnut.com/l/_FDC5w4y7KJvc


example.

Watch Video Solution

38. Let A = {1, 2, 3, 4}, B = {1, 2, 3} and C = {2, 4}. Find

all sets X satisfying pair of conditions : 

and .

Watch Video Solution

X ⊂ B

X ⊂ C

39. Let A = {1, 2, 3, 4}, B = {1, 2, 3} and C = {2, 4}. Find

all sets X satisfying pair of conditions :

 and .X ⊂ B, X ≠ B X ⊂ C

https://dl.doubtnut.com/l/_FDC5w4y7KJvc
https://dl.doubtnut.com/l/_BuaOV6gB8rCd
https://dl.doubtnut.com/l/_3yjKDCVsJ7Md


Watch Video Solution

40. Let A = {1, 2, 3, 4}, B = {1, 2, 3} and C = {2, 4}. Find

all sets X satisfying pair of conditions :

 and .

Watch Video Solution

X ⊂ A, X ⊂ B X ⊂ C

41. Prove that .

Watch Video Solution

A ⊂ B, B ⊂ C ⇒ A ⊂ C

https://dl.doubtnut.com/l/_3yjKDCVsJ7Md
https://dl.doubtnut.com/l/_iInDdmFs16WM
https://dl.doubtnut.com/l/_9RJhzdp4zdoR


42. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false : 

Watch Video Solution

1 ∈ A

43. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false :

.

Watch Video Solution

{1, 2, 3} ⊂ A

https://dl.doubtnut.com/l/_g2r1CBJPCCE3
https://dl.doubtnut.com/l/_ROQjRcvDte3G


44. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false :

.

Watch Video Solution

{6, 7, 8} ∈ A

45. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false :

.

Watch Video Solution

{{4, 5}} ⊂ A

https://dl.doubtnut.com/l/_asPHXxlVNVqx
https://dl.doubtnut.com/l/_taC5OWb8JhpY


46. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false : .

Watch Video Solution

ϕ ∈ A

47. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false : .

Watch Video Solution

ϕ ⊂ A

48. If A= {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8 }and

D = { 7, 8, 9, 10 }, find:- A ∪ C

https://dl.doubtnut.com/l/_zNeIDPXHCVwS
https://dl.doubtnut.com/l/_Nrnoe1GCmdQb
https://dl.doubtnut.com/l/_zeWi8hwzadee


Watch Video Solution

49. If A= {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8 }and

D = { 7, 8, 9, 10 }, find:- 

Watch Video Solution

B ∪ C

50. If A= {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8 }and

D = { 7, 8, 9, 10 }, find:- 

Watch Video Solution

B ∪ D

https://dl.doubtnut.com/l/_zeWi8hwzadee
https://dl.doubtnut.com/l/_ZTuoGS8PEbXn
https://dl.doubtnut.com/l/_3kBkChM1Pnwy


51. If A= {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8 }and

D = { 7, 8, 9, 10 }, find:- 

Watch Video Solution

A ∪ B ∪ C

52. If A= {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8 }and

D = { 7, 8, 9, 10 }, find:- 

Watch Video Solution

A ∪ B ∪ D

53. If A= {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8 } and

D = { 7, 8, 9, 10 }, find:- B ∪ C ∪ D

https://dl.doubtnut.com/l/_QjGNxbmPvVcX
https://dl.doubtnut.com/l/_RjHS08w9an21
https://dl.doubtnut.com/l/_awD4bJfuKxEO


Watch Video Solution

54. If

, find  and , where i = {1, 2, 3}.

Watch Video Solution

A1 = {2, 3, 4, 5}, A2 = {3, 4, 5, 6}, A3 = {4, 5, 6, 7}

∪ Ai ∩ Ai

55. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 }, C

= { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

A-B

Watch Video Solution

https://dl.doubtnut.com/l/_awD4bJfuKxEO
https://dl.doubtnut.com/l/_vaySx4hrHwi6
https://dl.doubtnut.com/l/_ZkjLl0fLuwzP


56. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 }, C

= { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

B-C

Watch Video Solution

57. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 }, C

= { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

C-D

Watch Video Solution

https://dl.doubtnut.com/l/_ZkjLl0fLuwzP
https://dl.doubtnut.com/l/_xwkkv1pDDywf
https://dl.doubtnut.com/l/_IznhVrXQHe1t
https://dl.doubtnut.com/l/_4MAGjFeMxcrj


58. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 }, C

= { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

D-C

Watch Video Solution

59. If U = { a, b, c, d, e, f, g, h}, find the complements

of the following set : A = {a, b, c}

Watch Video Solution

https://dl.doubtnut.com/l/_4MAGjFeMxcrj
https://dl.doubtnut.com/l/_9h924HzZnnrI


60. If U = { a, b, c, d, e, f, g, h}, find the complements

of the following set : B={d, e, f, g}

Watch Video Solution

61. If U = { a, b, c, d, e, f, g, h}, find the complements

of the following set : C = {a, c, e, g}

Watch Video Solution

62. If U = { a, b, c, d, e, f, g, h}, find the complements

of the following set : D = {f, g, h, a}

https://dl.doubtnut.com/l/_eWgMmls5irJ4
https://dl.doubtnut.com/l/_oaLVjcJ352fl
https://dl.doubtnut.com/l/_ib7ni8BSNHq7


Watch Video Solution

63. If U = {1, 2, 3, 4, 5, 6}, A = {1, 2}, B = {3, 4, 5},
find

 and .

Watch Video Solution

Ac, Bc, Ac ∩ Bc A ∪ B

64. Let U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B =

{2, 4, 6, 8}. Find : .

Watch Video Solution

Ac

https://dl.doubtnut.com/l/_ib7ni8BSNHq7
https://dl.doubtnut.com/l/_BehRhnI4ssVp
https://dl.doubtnut.com/l/_gvMluR9Bc2qk


65. Let U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B =

{2, 4, 6, 8}. Find : .

Watch Video Solution

Bc

66. Let U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B =

{2, 4, 6, 8}. Find : .

Watch Video Solution

(Ac)c

67. Let U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B =

{2, 4, 6, 8}. Find : .(A ∪ B)c

https://dl.doubtnut.com/l/_EcS1nkk7X7oD
https://dl.doubtnut.com/l/_Xy56NcXE7a3Q
https://dl.doubtnut.com/l/_Yoml1N8rB9Ya


Watch Video Solution

68. If U ={x: x is a letter in Engtish alphabet}
A={x : x

is a vowel in English alphabet}.
Find  and .

Watch Video Solution

Ac (Ac)c

69. Let U = {1,2,3,4,5, 6,7, 8, 9, 10},
A = {1, 3, 5}, B = {2,

4, 6},
C = {4, 5, 6}.
Find 

Watch Video Solution

Ac ∩ Bc

https://dl.doubtnut.com/l/_Yoml1N8rB9Ya
https://dl.doubtnut.com/l/_6Lrr7WbD1kuf
https://dl.doubtnut.com/l/_F4n7T91Lj0Ou


70. Let U = {1,2,3,4,5, 6,7, 8, 9, 10},
A = {1, 3, 5}, B = {2,

4, 6},
C = {4, 5, 6}.
Find .

Watch Video Solution

(A ∪ B)c ∩ C c

71. Let A = {1, 2, 3, 4, 5, 6}
 B = {3, 4,5, 6, 7, 8}.
 Find

.

Watch Video Solution

(A − B) ∪ (B − A)

72. If U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1,2,3,4}, B= {2, 4,

6,8} and C= {3,4,5 ,6}. Find : .Ac

https://dl.doubtnut.com/l/_uFdQ1MRzuojb
https://dl.doubtnut.com/l/_Z4s6JK534c71
https://dl.doubtnut.com/l/_KtFKtmtNrm3Z


Watch Video Solution

73. Let U = { 1, 2, 3, 4, 5, 6, 7, 8, 9 }, A = { 1, 2, 3, 4}, B =

{ 2, 4, 6, 8 } and C = { 3, 4, 5, 6 }. Find:- B'

Watch Video Solution

74. Let U = { 1, 2, 3, 4, 5, 6, 7, 8, 9 }, A = { 1, 2, 3, 4}, B =

{ 2, 4, 6, 8 } and C = { 3, 4, 5, 6 }. Find:- 

Watch Video Solution

(A ∪ C)'

https://dl.doubtnut.com/l/_KtFKtmtNrm3Z
https://dl.doubtnut.com/l/_K5LeVCiqp1KS
https://dl.doubtnut.com/l/_zT051MLOlsff


75. Let U = { 1, 2, 3, 4, 5, 6, 7, 8, 9 }, A = { 1, 2, 3, 4}, B =

{ 2, 4, 6, 8 } and C = { 3, 4, 5, 6 }. Find:- 

Watch Video Solution

(A ∪ C)'

76. Let U = { 1, 2, 3, 4, 5, 6, 7, 8, 9 }, A = { 1, 2, 3, 4}, B =

{ 2, 4, 6, 8 } and C = { 3, 4, 5, 6 }. Find:- (A')'

Watch Video Solution

77. Let U = { 1, 2, 3, 4, 5, 6, 7, 8, 9 }, A = { 1, 2, 3, 4}, B =

{ 2, 4, 6, 8 } and C = { 3, 4, 5, 6 }. Find:- (B -C)'

https://dl.doubtnut.com/l/_Elat9lBsrCiu
https://dl.doubtnut.com/l/_2xQz2Jv32Ue7
https://dl.doubtnut.com/l/_09U84IqBDwPR


Watch Video Solution

78. If U ={1,2, 3, 4, 5, 6, 7, 8, 9 }, A = {2, 4, 6, 8} and B =

{ 2, 3, 5, 7}. Verify that 

Watch Video Solution

(A ∪ B)' = A' ∩ B'

79. If U ={1,2, 3, 4, 5, 6, 7, 8, 9 }, A = {2, 4, 6, 8} and B =

{ 2, 3, 5, 7}. Verify that 

Watch Video Solution

(A ∩ B)' = A' ∪ B'

https://dl.doubtnut.com/l/_09U84IqBDwPR
https://dl.doubtnut.com/l/_wwAWwWWJMffV
https://dl.doubtnut.com/l/_kq9ivjv5Zz15


80. If A = {1, 2, 3}, B= { 4, 5, 6} and C= { 7, 8, 9}, verify

that : .

Watch Video Solution

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

81. If , show that .

Watch Video Solution

A ∩ Bc = ϕ A ⊂ B

82. If A and B are any two sets, prove that :

.

Watch Video Solution

A − B = A ∩ Bc

https://dl.doubtnut.com/l/_5vnj6ZCvDe9M
https://dl.doubtnut.com/l/_cM3OvrbNfPwU
https://dl.doubtnut.com/l/_tFykUFDiS4qm


83. If A and B are any two sets, prove that :

.

Watch Video Solution

(A − B) ∪ B = A ∪ B

84. Show that :

.

Watch Video Solution

(A ∪ B) − (A ∩ B) = (A − B) ∪ (B − A)

https://dl.doubtnut.com/l/_tFykUFDiS4qm
https://dl.doubtnut.com/l/_jE4YrknbsDJX
https://dl.doubtnut.com/l/_SQvsgvnhttA9


85. If A, B and C are any three sets, then prove that

: .

Watch Video Solution

A ∩ (B − C) = (A ∩ B) − (A ∩ C)

86. If A, B and C are any three sets, then prove that

: .

Watch Video Solution

A ∩ (BΔC) = (A ∩ B)Δ(A ∩ C)

87. Prove the following :
 .

Watch Video Solution

A ⊂ B ⇔ Bc ⊂ Ac

https://dl.doubtnut.com/l/_4XORxexVH960
https://dl.doubtnut.com/l/_FmGIq7705EK0
https://dl.doubtnut.com/l/_hflGaKjyI2Fs


88. Prove the following :
 .

Watch Video Solution

B ⊂ A ⇒ A ∪ B = A

89. Prove the following : .

Watch Video Solution

A − B = A − (A ∩ B)

90. Prove the following :

, where U is the

universal set.

U − (U − A) = (Ac)c = A

https://dl.doubtnut.com/l/_hflGaKjyI2Fs
https://dl.doubtnut.com/l/_ygA69IljJ5g9
https://dl.doubtnut.com/l/_kzb9zaeyKvBZ
https://dl.doubtnut.com/l/_LvAeUKnqcROn


Watch Video Solution

91. Shade the following :  in the

given Venn diagram.


Watch Video Solution

Ac ∩ (B ∪ C)

https://dl.doubtnut.com/l/_LvAeUKnqcROn
https://dl.doubtnut.com/l/_jHjD5F5JKEg6


92. Shade the following :  in the

given Venn diagram.


Watch Video Solution

Ac ∩ (C − B)

93. If X and Y are two sets such that n ( X ) = 17, n (

Y ) = 23 and , find .n(X ∪ Y ) = 38 n(X ∩ Y )

https://dl.doubtnut.com/l/_XsAKTNxL0Gr3
https://dl.doubtnut.com/l/_kxuRYxe6ugh5


Watch Video Solution

94. A and B are two sets containing respectively

 and  elements.
If , find x

and y.

Watch Video Solution

m1 m2 x ≤ n(A ∪ B) ≤ y

95. If A and B be two sets containing 6 and 3

elements respectively, what can be the minimum

number of elements in  ? Also, find the

maximum number of elements in .

A ∪ B

A ∪ B

https://dl.doubtnut.com/l/_kxuRYxe6ugh5
https://dl.doubtnut.com/l/_DC2ad4P47C10
https://dl.doubtnut.com/l/_QjFGXMxsPk9V


Watch Video Solution

96. Two finite sets have m and n elements. The

total number of subsets of the first set is 56 more

than the total number of subsets of the second

set. Find the values of m and n.

Watch Video Solution

97. Out of 20 members in a family, 11 like to take

tea and 14 like coffee. Assume that each one likes

https://dl.doubtnut.com/l/_QjFGXMxsPk9V
https://dl.doubtnut.com/l/_jjALRofejGBg
https://dl.doubtnut.com/l/_PErkn65MHgVk


at least one of the two drinks. How many like :

both tea and coffee?

Watch Video Solution

98. There are 20 students in a Chemistry class and

30 students in a Physics class. Find the number of

students which are either in Physics class or

Chemistry class in the following case : the classes

meet at the same hour.

Watch Video Solution

https://dl.doubtnut.com/l/_PErkn65MHgVk
https://dl.doubtnut.com/l/_sRg2JUguVtWX


99. There are 20 students in a Chemistry class and

30 students in a Physics class. Find the number of

students which are either in Physics class or

Chemistry class in the following case : the two

classes meet at different hours and ten students

are rolled in both the subjects.

Watch Video Solution

100. In a survey of 400 students in a school, 100

were listed as drinking apple juice, 150 as drinking

orange juice and 75 were listed as both drinking

https://dl.doubtnut.com/l/_z3gCPnUVDjlx
https://dl.doubtnut.com/l/_EcaSnwHtqovJ


apple as well as orange juice. Find how many

students were drinking neither apple juice nor

orange juice.

Watch Video Solution

101. A market research group conducted a survey

of 1000 consumers and reported that 720.

consumers liked product A and 450 liked product

B. What is the least number that must have like

both products ?

Watch Video Solution

https://dl.doubtnut.com/l/_EcaSnwHtqovJ
https://dl.doubtnut.com/l/_6bHQD3pFe6vx
https://dl.doubtnut.com/l/_3AbMB2yEw5tc


102. Out of 500 car owners investigated, 400

owned car A and 200 owned car B, 50 pwned both

A and B cars. Is the data correct ?

Watch Video Solution

103. In a survey it was found that 21 people liked

product A, 26 liked product B and 29 liked product

C. If 14 people liked products Aand B, 12 people

liked products C and A, 14 people liked products B

and C
and 8 liked all the three products. Find how

many liked product C only.

W h Vid S l i

https://dl.doubtnut.com/l/_3AbMB2yEw5tc
https://dl.doubtnut.com/l/_J9c7U2hh49xl


Watch Video Solution

104. There are 200 individuals with in skin

disorder. 120 had been exposed to the chemical

, 50 to chemical  and 30 to both the

chemicals  and . Find the number of

individuals exposed to : 

Chemical  but not chemical 

Watch Video Solution

C1 C2

C1 C2

C1 C2

105. There are 200 individuals with in skin

disorder. 120 had been exposed to the chemical

https://dl.doubtnut.com/l/_J9c7U2hh49xl
https://dl.doubtnut.com/l/_vdqgQTknF6tU
https://dl.doubtnut.com/l/_8hfCAgBuSRlt


, 50 to chemical  and 30 to both the

chemicals  and . Find the number of

individuals exposed to : 

Chemical  but not chemical 

Watch Video Solution

C1 C2

C1 C2

C2 C1

106. There are 200 individuals with in skin

disorder. 120 had been exposed to the chemical

, 50 to chemical  and 30 to both the

chemicals  and . Find the number of

individuals exposed to : 

Chemical  or chemical .

C1 C2

C1 C2

C1 C2

https://dl.doubtnut.com/l/_8hfCAgBuSRlt
https://dl.doubtnut.com/l/_izxHbmNg8AFl


Watch Video Solution

107. In a survey of 25 students, it was found that

15 had taken Mathematics, 12 had taken Physics

and 11 had taken Chemistry, 5 had takes

Mathematics and Chemistry, 9 had taken

Mathematics and Physics, 4 had taken Physics and

Chemistry and 3 had taken all three subjects. Find

the number of students that had taken : 

only Chemistry.

Watch Video Solution

https://dl.doubtnut.com/l/_izxHbmNg8AFl
https://dl.doubtnut.com/l/_ohJetYjEmZuG
https://dl.doubtnut.com/l/_Z3svmFsp0dl1


108. In a survey of 25 students, it was found that

15 had taken Mathematics, 12 had taken Physics

and 11 had taken Chemistry, 5 had takes

Mathematics and Chemistry, 9 had taken

Mathematics and Physics, 4 had taken Physics and

Chemistry and 3 had taken all three subjects. Find

the number of students that had taken : 

only Mathematics.

Watch Video Solution

109. In a survey of 25 students, it was found that

15 had taken Mathematics, 12 had taken Physics

https://dl.doubtnut.com/l/_Z3svmFsp0dl1
https://dl.doubtnut.com/l/_IdQr2HeQzdBI


and 11 had taken Chemistry, 5 had takes

Mathematics and Chemistry, 9 had taken

Mathematics and Physics, 4 had taken Physics and

Chemistry and 3 had taken all three subjects. Find

the number of students that had taken : 

only Physics.

Watch Video Solution

110. In a survey of 25 students, it was found that 15

had taken Mathematics, 12 had taken Physics and

11 had taken Chemistry, 5 had takes Mathematics

and Chemistry, 9 had taken Mathematics and

https://dl.doubtnut.com/l/_IdQr2HeQzdBI
https://dl.doubtnut.com/l/_beKAKGYn94X3


Physics, 4 had taken Physics and Chemistry and 3

had taken all three subjects. Find the number of

students that had taken : 

Physics and Chemistry but not Mathematics.

Watch Video Solution

111. In a survey of 25 students, it was found that 15

had taken Mathematics, 12 had taken Physics and

11 had taken Chemistry, 5 had takes Mathematics

and Chemistry, 9 had taken Mathematics and

Physics, 4 had taken Physics and Chemistry and 3

had taken all three subjects. Find the number of

https://dl.doubtnut.com/l/_beKAKGYn94X3
https://dl.doubtnut.com/l/_1x7mbIKElzg5


students that had taken : 

Mathematics and Physics but not Chemistry.

Watch Video Solution

112. In a survey of 25 students, it was found that 15

had taken Mathematics, 12 had taken Physics and

11 had taken Chemistry, 5 had takes Mathematics

and Chemistry, 9 had taken Mathematics and

Physics, 4 had taken Physics and Chemistry and 3

had taken all three subjects. Find the number of

students that had taken : 

only one of the subjects.

https://dl.doubtnut.com/l/_1x7mbIKElzg5
https://dl.doubtnut.com/l/_5Kjrq65LUyWG


Watch Video Solution

113. In a survey of 25 students, it was found that 15

had taken Mathematics, 12 had taken Physics and

11 had taken Chemistry, 5 had takes Mathematics

and Chemistry, 9 had taken Mathematics and

Physics, 4 had taken Physics and Chemistry and 3

had taken all three subjects. Find the number of

students that had taken : 

at least one of three subjects.

Watch Video Solution

https://dl.doubtnut.com/l/_5Kjrq65LUyWG
https://dl.doubtnut.com/l/_5dEgo0NBoQ23
https://dl.doubtnut.com/l/_wEYk4Y2uX094


Exercise

114. In a survey of 25 students, it was found that 15

had taken Mathematics, 12 had taken Physics and

11 had taken Chemistry, 5 had takes Mathematics

and Chemistry, 9 had taken Mathematics and

Physics, 4 had taken Physics and Chemistry and 3

had taken all three subjects. Find the number of

students that had taken : 

none of the three subjects.

Watch Video Solution

https://dl.doubtnut.com/l/_wEYk4Y2uX094


1. Which of the following are sets ? Justify your

answer. The collection of all the months of a year

beginning with the letter J.

Watch Video Solution

2. Which of the following are sets ? Justify your

answer. The collection of ten most talented

writers of India.

Watch Video Solution

https://dl.doubtnut.com/l/_hnK8WHj8LGsj
https://dl.doubtnut.com/l/_UReqi02Gyb1w


3. A team of good hockey players of the world is a

set or collection?

Watch Video Solution

4. The collection of all students in your class is set

or collection

Watch Video Solution

5. Which of the following are sets ? Justify your

answer. The collection of all natural numbers less

https://dl.doubtnut.com/l/_OJUBmB05DeqL
https://dl.doubtnut.com/l/_otIUeWbdBCyL
https://dl.doubtnut.com/l/_yAm2VPG5hyUW


than 100.

Watch Video Solution

6. Which of the following are sets ? Justify your

answer. A collection of novels written by the writer

Munshi Prem Chand.

Watch Video Solution

7. Which of the following are sets ? Justify your

answer. The collection of all even integers.

Watch Video Solution

https://dl.doubtnut.com/l/_yAm2VPG5hyUW
https://dl.doubtnut.com/l/_RfPcMiW4GdHh
https://dl.doubtnut.com/l/_NYtyuW5uIte7


8. Which of the following are sets ? Justify your

answer. The collection of questions in this

Chapter.

Watch Video Solution

9. Which of the following are sets ? Justify your

answer. A collection of most dangerous animals of

the world.

Watch Video Solution

https://dl.doubtnut.com/l/_NYtyuW5uIte7
https://dl.doubtnut.com/l/_FhKj6uB3qQnn
https://dl.doubtnut.com/l/_aHtzVqkUMW9j


10. Let A = {1, 2, 3, 4, 5, 6}. Insert the appropriate

symbol  or  in the blank space: 5. . .A

Watch Video Solution

∈ ∉

11. Let A = {1, 2, 3, 4, 5, 6). Insert the appropriate

symbol  or  in the following blank space : 8

............... A

Watch Video Solution

∈ ∉

https://dl.doubtnut.com/l/_LxN1TSyAEmis
https://dl.doubtnut.com/l/_d7ygTw6sXFp8


12. Let A = {1, 2, 3, 4, 5, 6). Insert the appropriate

symbol  or  in the following blank space : 0

................. A

Watch Video Solution

∈ ∉

13. Let A = {1, 2, 3, 4, 5, 6). Insert the appropriate

symbol  or  in the following blank space : 4

................ A

Watch Video Solution

∈ ∉

https://dl.doubtnut.com/l/_7J24x3HMqEVn
https://dl.doubtnut.com/l/_PXcaqhIff6a1


14. Let A = {1, 2, 3, 4, 5, 6). Insert the appropriate

symbol  or  in the following blank space : 2

................. A

Watch Video Solution

∈ ∉

15. Let A = {1, 2, 3, 4, 5, 6). Insert the appropriate

symbol  or  in the following blank space : 10

................. A.

Watch Video Solution

∈ ∉

https://dl.doubtnut.com/l/_zHcs2tFRJw7g
https://dl.doubtnut.com/l/_DiiCmTIsMHpg


16. Write the following set in roster form: A = {x : x

is an integer and -3 < x < 7}

Watch Video Solution

17. Write the following set in roster form: B = {x : x

is a natural number less than 6}

Watch Video Solution

18. Write the following set in roster form: C = {x : x

is a two-digit natural number such that the sum

https://dl.doubtnut.com/l/_kAAIiozn1o7c
https://dl.doubtnut.com/l/_ZKGmhrb9gyfq
https://dl.doubtnut.com/l/_vHNmahrO3Hjx


of its digits is 8}

Watch Video Solution

19. Write the following set in roster form: D = {x : x

is a prime number which is divisor of 60}

Watch Video Solution

20. Write the following set in roster form: E = The

set of all letters in the word TRIGONOMETRY

Watch Video Solution

https://dl.doubtnut.com/l/_vHNmahrO3Hjx
https://dl.doubtnut.com/l/_hcHVoLgGZ8KW
https://dl.doubtnut.com/l/_eAhamliJDLw8


21. Write the following set in roster form: F = The

set of all letters in the word BETTER

Watch Video Solution

22. Write the following set in Set Builder Form : A=

{0}.

Watch Video Solution

23. Write the following set in Set Builder Form : B=

{-1,1}.

https://dl.doubtnut.com/l/_ubTDLmTwQMIM
https://dl.doubtnut.com/l/_nF0Dn3q6xvhr
https://dl.doubtnut.com/l/_m3RpubxNccI9


Watch Video Solution

24. Write the following set in Set Builder Form : C=

{1,3,5,7,9}.

Watch Video Solution

25. Write the following set in Set Builder Form : D=

{2, 4,6, 8}.

Watch Video Solution

https://dl.doubtnut.com/l/_m3RpubxNccI9
https://dl.doubtnut.com/l/_pHdAchzDYCeB
https://dl.doubtnut.com/l/_dj7Els78sniY


26. Write the following set in Set Builder Form : E=

{0,5, 10, 15, ....}.

Watch Video Solution

27. Write the following set in Set Builder Form : F=

(12, 18, 24, ......,96}.

Watch Video Solution

28. Write the following set in the set-builder form

: {3,6,9,12}

https://dl.doubtnut.com/l/_FboOERqKCp8p
https://dl.doubtnut.com/l/_vdGbERMjDRlZ
https://dl.doubtnut.com/l/_jxDSz3Csa8Ms


Watch Video Solution

29. Write the following set in the set-builder form

: {2,4,8,16,32}

Watch Video Solution

30. Write the following set in the set-builder form

: {5,25,125,625}

Watch Video Solution

https://dl.doubtnut.com/l/_jxDSz3Csa8Ms
https://dl.doubtnut.com/l/_8fa92DV0nAL9
https://dl.doubtnut.com/l/_9Nk8G2ajAPqk


31. Write the following set in the set-builder form :

{2,4,6....}

Watch Video Solution

32. Write the following set in the set-builder form

: {1,4,9,...,100}

Watch Video Solution

33. List all the elements of the following set : A = {x

: x is an odd natural number}

https://dl.doubtnut.com/l/_rY31kuYfUFQv
https://dl.doubtnut.com/l/_9KHjjppSgsBv
https://dl.doubtnut.com/l/_ZhCUrIUof61u


Watch Video Solution

34. List all the elements of the following set : B =

{x : x is an integer, }

Watch Video Solution

− < x <
1

2

9

2

35. List all the elements of the following set : C = {x

: x is an integer, }

Watch Video Solution

x2 ≤ 4

https://dl.doubtnut.com/l/_ZhCUrIUof61u
https://dl.doubtnut.com/l/_I83Tqbv1nDAA
https://dl.doubtnut.com/l/_CycurKUH8Me1


36. List all the elements of the following set : D =

{x : x is a letter in the word “LOYAL”}

Watch Video Solution

37. List all the elements of the following set : E = {x

: x is a month of a year not having 31 days}

Watch Video Solution

38. List all the elements of the following set : F = {x

: x is a consonant in the English alphabet which

https://dl.doubtnut.com/l/_xprWs8vB55UH
https://dl.doubtnut.com/l/_RPgAACYHo6gJ
https://dl.doubtnut.com/l/_zjh55NAlH9WS


precedes k }.

Watch Video Solution

39. Match each of the sets on the left in the

Roster Form with the same set on the right

described in the Set Builder Form : 

Watch Video Solution

https://dl.doubtnut.com/l/_zjh55NAlH9WS
https://dl.doubtnut.com/l/_hGw0M9YPrdny
https://dl.doubtnut.com/l/_QuL6AKHgp6Rb


40. Write the set of all vowels in the English

alphabet which precede q.

Watch Video Solution

41. Write the set of all integers whose cube is an

even integer.

Watch Video Solution

42. Write the set

 in the Set{ , , , , , , , }
1

2

2

5

3

10

4

17

5

26

6

37

7

50

8

65

https://dl.doubtnut.com/l/_QuL6AKHgp6Rb
https://dl.doubtnut.com/l/_mgXlLB0cou0K
https://dl.doubtnut.com/l/_8xDmdSdTYtSB


Builder Form.

Watch Video Solution

43. Write the set {x : x is a positive integer and

} in the Roster Form.

Watch Video Solution

x2 < 40

44. State whether the following set is finite or

infinite : The set of days of a week.

Watch Video Solution

https://dl.doubtnut.com/l/_8xDmdSdTYtSB
https://dl.doubtnut.com/l/_nVZvogjza7S0
https://dl.doubtnut.com/l/_jLNQV6ePWS17


45. Which of the following sets are finite or

infinite:- The set of prime numbers less than 99

Watch Video Solution

46. Which of the following sets are finite or

infinite:- The set of positive integers greater than

100

Watch Video Solution

https://dl.doubtnut.com/l/_cvv35eHmBQYn
https://dl.doubtnut.com/l/_Tsk1izAyegfb


47. State whether each of the following set is

finite or infinite: The set of lines which are parallel

to the x-axis

Watch Video Solution

48. State whether each of the following set is

finite or infinite: The set of letters in the English

alphabet

Watch Video Solution

https://dl.doubtnut.com/l/_3pKA9BzSn7wg
https://dl.doubtnut.com/l/_NRwgpe8J30aW


49. State whether each of the following set is

finite or infinite: The set of animals living on the

earth

Watch Video Solution

50. State whether each of the following set is

finite or infinite: The set of circles passing through

the origin (0,0)

Watch Video Solution

https://dl.doubtnut.com/l/_8rmb8kDTRdZK
https://dl.doubtnut.com/l/_GQhZVPHCbHqR


51. State whether the following set is finite or

infinite : A= {x:x  N and (x - 1) (x- 2) =0}.

Watch Video Solution

∈

52. State whether the following set is finite or

infinite : B= {x:x  N and }.

Watch Video Solution

∈ x2 = 4

53. State whether the following set is finite or

infinite : C= {x:x  N and 2x-1 = 0}.∈

https://dl.doubtnut.com/l/_Ga6uFR0a9IuK
https://dl.doubtnut.com/l/_vRDwKDH5sILg
https://dl.doubtnut.com/l/_RprNc3GNxG7V


Watch Video Solution

54. State whether the following set is finite or

infinite : E= {x:x  N and x is prime }.

Watch Video Solution

∈

55. State whether the following set is finite or

infinite : D= {x:x  N and x is odd}.

Watch Video Solution

∈

https://dl.doubtnut.com/l/_RprNc3GNxG7V
https://dl.doubtnut.com/l/_xKvqKEmW7Rai
https://dl.doubtnut.com/l/_GqE76GebgHYx


56. Which of the following are examples of the

null set :- Set of even prime numbers

Watch Video Solution

57. Whether the following is empty (null) set? 

Set of all even natural numbers divisible by 5.

Watch Video Solution

58. Whether the following is empty (null) set? x:

< < ,x in N

{ 5

x 6 }

https://dl.doubtnut.com/l/_IWk6ellSadyk
https://dl.doubtnut.com/l/_fEtS6NrGmQ3F
https://dl.doubtnut.com/l/_MACcqiYq80fT


Watch Video Solution

59. Whether the following is empty (null) set? 

{  and x is an even integer}.

Watch Video Solution

x : x2 = 25

60. Whether the following is empty (null) set? 

{  and x is rational}

Watch Video Solution

x : x2 − 2 = 0

https://dl.doubtnut.com/l/_MACcqiYq80fT
https://dl.doubtnut.com/l/_MFu10KhZrrkl
https://dl.doubtnut.com/l/_NUlu3ItEbX5a


61. In the following, state whether A = B or not: A=

{a,b, c,d} B = { d, c, b,a }

Watch Video Solution

62. In the following, state whether A = B or not: A =

{ 4, 8, 12, 16 } B = {8,4, 16,18}

Watch Video Solution

63. In the following, state whether A = B or not: A =

{2.4, 6, 8, 10} B = { x : x is positive even integer and

https://dl.doubtnut.com/l/_d7vygsHyfkiK
https://dl.doubtnut.com/l/_JdsWoWLrsCDN
https://dl.doubtnut.com/l/_aAuFXDhW9r98


}

Watch Video Solution

x ≤ 10

64. In the following, state whether A = B or not: A =

{ x : x is a multiple of 10}, B = { 10, 15,20,25,30, . . . }

Watch Video Solution

65. Are the following pair of sets equal ? Give

reasons. A={2, 3}, B= {x : x is solution of  + 5x + 6

= 0}

Watch Video Solution

x2

https://dl.doubtnut.com/l/_aAuFXDhW9r98
https://dl.doubtnut.com/l/_XA0NlY6DvbAH
https://dl.doubtnut.com/l/_BvFWtrJ75BD8


66. Are the following sets equal ? Give reasons: A =

{n :n  Z and }, B= {x:x  R and 

}

Watch Video Solution

∈ n2 ≤ 4 ∈

x2 − 3x + 2 = 0

67. Are the following sets equal ? Give reasons: A =

{x:x is a letter in the word ‘LOYAL’ }
 B = {x:x is a

letter in the word ‘ALLOY’ }.

Watch Video Solution

https://dl.doubtnut.com/l/_BvFWtrJ75BD8
https://dl.doubtnut.com/l/_B5BdxdKiTL0v
https://dl.doubtnut.com/l/_UjhhPhKrGDIq


68. Show that the set of letters needed to spell

“CATARACT” and the set of letters needed to spell

“TRACT” are equal.

Watch Video Solution

69. From the sets given below, select equal sets : A

= { 2, 4, 8, 12}, B = { 1, 2, 3, 4}, C = { 4, 8, 12, 14}, D = { 3,

1,4,2} E={-1,1}, F = { 0, a}, G= {1,-1}, H = { 0, 1}

Watch Video Solution

https://dl.doubtnut.com/l/_kE3JhlPZWeJV
https://dl.doubtnut.com/l/_n3hw277Ztpgu


70. From the sets given below, select equal sets : A

= { 2, 4, 8, 12}, B = { 1, 2, 3, 4}, C = { 4, 8, 12, 14}, D = { 3,

1,4,2} E={-1,1}, F = { 0, a}, G= {1,-1}, H = { 0, 1}

Watch Video Solution

71. Which of the following sets are equal ?
A= {x:x

 N,x <4), B= {1,2, 3}, C={1 ,3},
 D = {x:x  N, x is

odd, x < 5}, E= {1,2, 3, 2},
F = {3,3,1}.

Watch Video Solution

∈ ∈

https://dl.doubtnut.com/l/_X81BK1jKbUkh
https://dl.doubtnut.com/l/_7vbsUypgOuEP


72. Which of the following sets are equal ?
A= {x:x

 N,x <3), B= {1,2}, C={3,1},
D = {x:x  N, x is odd, x

< 5}, E= {1,2 ,1},
F = {1,1,3}.

Watch Video Solution

∈ ∈

73. Whether the following statement is true or

false ? 

{a,e,o}= {i,u,a}.

Watch Video Solution

https://dl.doubtnut.com/l/_P9Y3OwgUys28
https://dl.doubtnut.com/l/_NkCTgJcBKdJ7


74. Whether the following statement is true or

false ? 

{5, 1,3}= {1,3,5}.

Watch Video Solution

75. Whether the following statement is true or

false ? 

{x:x  N, x is a multiple of 5 } = {5, 10, 15, 20,....}.

Watch Video Solution

∈

https://dl.doubtnut.com/l/_PasLteyiskpp
https://dl.doubtnut.com/l/_InDt8K3hQM4R


76. Whether the following statement is true or

false ? 

(x: x is an even prime} = {2}.

Watch Video Solution

77. Examine whether the following statement is

true or false: { a, b }  { b, c, a }

Watch Video Solution

⊂

https://dl.doubtnut.com/l/_Xx8O7HeBq9uW
https://dl.doubtnut.com/l/_EHLTxfs4OKKO


78. Examine whether the following statement is

true or false: {a,e)  {x:xisa vowel in the English

alphabet)

Watch Video Solution

⊂

79. Examine whether the following statement is

true or false: { 1,2,3 }  { 1,3, 5}

Watch Video Solution

⊂

https://dl.doubtnut.com/l/_rBBwEDkGGurX
https://dl.doubtnut.com/l/_rT46tC0KZrAR


80. Examine whether the following statement is

true or false: { a }  { a, b. c }

Watch Video Solution

⊂

81. Examine whether the following statement is

true or false: { a }  { a, b, c }

Watch Video Solution

∈

82. Examine whether the following statement is

true or false: { x : x is an even natural number less

https://dl.doubtnut.com/l/_yBCZ8BB0hd9b
https://dl.doubtnut.com/l/_Op8AZTvTVS6B
https://dl.doubtnut.com/l/_bwR6TzAbWarx


than 6)  { x : x is a natural number which

divides 36}

Watch Video Solution

⊂

83. Whether the following statement is true ?

Justify
your answer. 

The set of dogs is contained in the set of animals.

Watch Video Solution

84. Whether the following statement is true ?

Justify
your answer. 

https://dl.doubtnut.com/l/_bwR6TzAbWarx
https://dl.doubtnut.com/l/_6bmI6QHFHZAt
https://dl.doubtnut.com/l/_NhKJcs5PTI4I


The set of all isosceles triangles is contained in

the set of all equilateral triangles.

Watch Video Solution

85. Whether the following statement is true ?

Justify
your answer. 

The set of all rectangles is contained in the set of

squares.

Watch Video Solution

https://dl.doubtnut.com/l/_NhKJcs5PTI4I
https://dl.doubtnut.com/l/_jQLxryLbwS9n


86. Whether the following statement is true ?

Justify
your answer. 

The set A = {2} and B= {{2}} are equal.

Watch Video Solution

87. Whether the following statement is true ?

Justify
your answer. 

The sets A = {x: x is letter in the word ‘LITTLE’ }, and

B= (x: x is a letter in the word “TITLE”} are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_rSHTTXJxrfeK
https://dl.doubtnut.com/l/_QQIyLQSPn5sk
https://dl.doubtnut.com/l/_8UEWMopOaNuf


88. Whether the following statement is true ?

Justify
your answer. 

For any two sets A and B either A  B or B  A.

Watch Video Solution

⊆ ⊆

89. Whether the following statement is true ?

Justify
your answer. 

Every set has a proper subset.

Watch Video Solution

https://dl.doubtnut.com/l/_8UEWMopOaNuf
https://dl.doubtnut.com/l/_9AvOYkw8IR1l


90. Whether the following statement is true ?

Justify
your answer. 

If x  A and A  B, then x  B.

Watch Video Solution

∈ ∈ ∈

91. Whether the following statement is true ?

Justify
your answer. 

If A  B and B  C,then A  C.

Watch Video Solution

⊂ ∈ ∈

https://dl.doubtnut.com/l/_tWBqFo33qOTz
https://dl.doubtnut.com/l/_bKcTOCEudMhN


92. Whether the following statement is true ?

Justify
your answer. 

If A  B and B  C,then A  C.

Watch Video Solution

⊂ ⊂ ⊂

93. Whether the following statement is true ?

Justify
your answer. 

If A  B and B  C,then A  C.

Watch Video Solution

⊂ ⊂ ⊂

https://dl.doubtnut.com/l/_DoKisOeitu0V
https://dl.doubtnut.com/l/_7dv4qBYWCbUP


94. Whether the following statement is true ?

Justify
your answer. 

If x  A and A  B, then x  B.

Watch Video Solution

∈ ⊂ ∈

95. Whether the following statement is true ?

Justify
your answer. 

If A  B and x  B,then x  A.

Watch Video Solution

⊂ ∉ ∉

https://dl.doubtnut.com/l/_nYgf7bQqTyzc
https://dl.doubtnut.com/l/_IrLtpgVGbpsH


96. Let A ={1,2 {3,4},5}. State whether the following

statement is incorrect and why ? 

.

Watch Video Solution

{3, 4} ⊂ A

97. Let A ={1,2 {3,4},5}. State whether the following

statement is incorrect and why ? 

.

Watch Video Solution

{3, 4} ⊂ A

https://dl.doubtnut.com/l/_tMY2vPpCnARS
https://dl.doubtnut.com/l/_MKfUjir3V8TH


98. Let A ={1,2 {3,4},5}. State whether the following

statement is incorrect and why ? 

.

Watch Video Solution

{3, 4} ⊂ A

99. Let A ={1,2 {3,4},5}. State whether the following

statement is incorrect and why ? 

.

Watch Video Solution

1 ∈ A

https://dl.doubtnut.com/l/_f2jJXoS6ZS3Y
https://dl.doubtnut.com/l/_6wB2vPueXOXI


100. Let A ={1,2 {3,4},5}. State whether the following

statement is incorrect and why ? 

.

Watch Video Solution

1 ⊂ A

101. Let A ={1,2 {3,4},5}. State whether the following

statement is incorrect and why ? 

.

Watch Video Solution

{1, 2, 5} ⊂ A

https://dl.doubtnut.com/l/_MA40Lk2ECzym
https://dl.doubtnut.com/l/_RII2OtFaENiO


102. Let A ={1,2 {3,4},5}. State whether the following

statement is incorrect and why ? 

.

Watch Video Solution

{1, 2, 5} ∈ A

103. Let A ={1,2 {3,4},5}. State whether the following

statement is incorrect and why ? 

.

Watch Video Solution

{1, 2, 3} ⊂ A

https://dl.doubtnut.com/l/_VYwJ2UFbcao5
https://dl.doubtnut.com/l/_u5XlQvWQIZas


104. Let A ={1,2 {3,4},5}. State whether the following

statement is incorrect and why ? 

.

Watch Video Solution

ϕ ∈ A

105. Let A ={1,2 {3,4},5}. State whether the following

statement is incorrect and why ? 

.

Watch Video Solution

{ϕ} ⊂ A

https://dl.doubtnut.com/l/_fnSgUViOzDkd
https://dl.doubtnut.com/l/_zHulMJuRg6RG


106. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false : .

Watch Video Solution

ϕ ∈ A

107. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false : .

Watch Video Solution

ϕ ⊂ A

108. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false . Justify your

https://dl.doubtnut.com/l/_8nJ8fWYipofp
https://dl.doubtnut.com/l/_FB3sFE3NbaRd
https://dl.doubtnut.com/l/_Op6tljEhp0x1


answer . 

.

Watch Video Solution

1 ∈ A

109. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false :

.

Watch Video Solution

{1, 2, 3} ⊂ A

110. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false :

https://dl.doubtnut.com/l/_Op6tljEhp0x1
https://dl.doubtnut.com/l/_ZA7AJYI8Vlk3
https://dl.doubtnut.com/l/_t5kvJo65doSo


.

Watch Video Solution

{6, 7, 8} ∈ A

111. Let A = {{1, 2, 3}, {4, 5}, {6, 7, 8}}. Determine

whether the following is true or false . Justify your

answer . 

.

Watch Video Solution

{{4, 5}} ⊂ A

112. Let A = State whether

the following is true of false? Justify your answer . 

{ϕ, {ϕ}, 2, {2, ϕ}, 5}.

https://dl.doubtnut.com/l/_t5kvJo65doSo
https://dl.doubtnut.com/l/_tAvk5ooGCyVC
https://dl.doubtnut.com/l/_LPyxydFzPIFG


.

Watch Video Solution

ϕ ∈ A

113. Let A = . State whether

the following is true of false? Justify your answer . 

in .

Watch Video Solution

{ϕ, {ϕ}, 2, {2, ϕ}, 5}

{ϕ} A

114. Let A = . State whether

the following is true of false? Justify your answer . 

.

{ϕ, {ϕ}, 2, {2, ϕ}, 5}

{2} ∈ A

https://dl.doubtnut.com/l/_LPyxydFzPIFG
https://dl.doubtnut.com/l/_6njK3HXeF8yd
https://dl.doubtnut.com/l/_1J2hhfwxcHLJ


Watch Video Solution

115. Let A = . State whether

the following is true of false? Justify your answer . 

.

Watch Video Solution

{ϕ, {ϕ}, 2, {2, ϕ}, 5}

{5, ϕ} ⊂ A

116. Let A =  State whether

the following is true of false? Justify your answer . 

.

Watch Video Solution

{ϕ, {ϕ}, 2, {2, ϕ}, 5}.

5 ⊂ A

https://dl.doubtnut.com/l/_1J2hhfwxcHLJ
https://dl.doubtnut.com/l/_p5z2g8uS7tf8
https://dl.doubtnut.com/l/_T2CVge4Vehjp


117. Let A = . State whether

the following is true of false? Justify your answer . 

  .

Watch Video Solution

{ϕ, {ϕ}, 2, {2, ϕ}, 5}

{{5}, {2}} ( ⊂ ) A

118. Let A = . State whether

the following is true of false? Justify your answer . 

  .

Watch Video Solution

{ϕ, {ϕ}, 2, {2, ϕ}, 5}

{{5}, {2}} ( ⊂ ) A

https://dl.doubtnut.com/l/_T2CVge4Vehjp
https://dl.doubtnut.com/l/_Z7P5lbOmgz5r
https://dl.doubtnut.com/l/_oZ74YijmPfBW
https://dl.doubtnut.com/l/_FXeR6VpsrTjh


119. Let A = . State whether

the following is true of false? Justify your answer . 

  .

Watch Video Solution

{ϕ, {ϕ}, 2, {2, ϕ}, 5}

{ϕ, {ϕ}, 2, {2, ϕ}} ⊂ A

120. Let A =  State whether

the following is true of false? Justify your answer . 

.

Watch Video Solution

{ϕ, {ϕ}, 2, {2, ϕ}, 5}.

{{ϕ}} ⊂ A

https://dl.doubtnut.com/l/_FXeR6VpsrTjh
https://dl.doubtnut.com/l/_y9MV9B44WXmC


121. Make correct statements by filling in the

symbols  or  in the blank spaces : { 2, 3, 4 }

. . . { 1, 2, 3, 4,5 }

Watch Video Solution

⊂ ⊂

122. Make correct statements by filling in the

symbols  or  in the blank spaces : { a, b, c }

. . . { b, c, d }

Watch Video Solution

⊂ ⊂

https://dl.doubtnut.com/l/_fCkSPTk6pYLQ
https://dl.doubtnut.com/l/_3HCjtGW5OL9v


123. Make correct statements by filling in the

symbols  or  in the blank spaces : {x : x is

an even natural number) ... {x : x is an integer)

Watch Video Solution

⊂ ⊂

124. Make correct statements by filling in the

symbols  or  in the blank spaces : {x : x is a

triangle in a plane) . . . {x : x is a rectangle in the

plane)

Watch Video Solution

⊂ ⊂

https://dl.doubtnut.com/l/_HDPYLWd2Rbh8
https://dl.doubtnut.com/l/_Eb22egpZzQCR
https://dl.doubtnut.com/l/_FhOOqVf6vR3Z


125. Make correct statements by filling in the

symbols  or  in the blank spaces : {x : x is

an equilateral triangle in a plane) ... {x : x is a

triangle in the same plane)

Watch Video Solution

⊂ ⊂

126. Make correct statements by filling in the

symbols  or  in the blank spaces : {x : x is a

circle in the plane) . . .{x : x is a circle in the same

plane with radius 1 unit)

Watch Video Solution

⊂ ⊂

https://dl.doubtnut.com/l/_FhOOqVf6vR3Z
https://dl.doubtnut.com/l/_spGchDj3B0dd


127. Make correct statements by filling in the

symbols  or  in the blank spaces : {x : x is a

student of Class XI of your school). . .{x : x student

of your school)

Watch Video Solution

⊂ ⊂

128. Write down all the subsets of the following

set :- 

Watch Video Solution

ϕ

https://dl.doubtnut.com/l/_3eYWeNV9QcRG
https://dl.doubtnut.com/l/_mm4MrS6HHr2N


129. Write down all the subset of the following set

: 

{1}.

Watch Video Solution

130. Write down all the subsets of the following

set :- {1,2,3}

Watch Video Solution

https://dl.doubtnut.com/l/_LNbqQ2cDKjAQ
https://dl.doubtnut.com/l/_dsjeeQEtyEgJ


131. Write down all the subset of the following set

: 

{1, {1}}.

Watch Video Solution

132. Write down all the subsets of the following

set :- {a}

Watch Video Solution

https://dl.doubtnut.com/l/_GPMGpebycU0G
https://dl.doubtnut.com/l/_sCDo6WcYuKY6


133. Write down all the subset of the following set

: 

{a, b}.

Watch Video Solution

134. Write down all the subset of the following set

: 

{a, b, c} .

Watch Video Solution

https://dl.doubtnut.com/l/_dLU22WxLNUKj
https://dl.doubtnut.com/l/_zLAwMLX6OzDy


135. What is the total number of proper subsets of

a set containing n elements ?

Watch Video Solution

136. Write down the power set of the following : 

{0} .

Watch Video Solution

137. Write down the power set of the following : 

{1, 2, 3}.

https://dl.doubtnut.com/l/_rTKigVSc0kt2
https://dl.doubtnut.com/l/_pOmj5MUaWPBJ
https://dl.doubtnut.com/l/_4vXl3BaK9FOq


Watch Video Solution

138. How many elements has P(A), if ?

Watch Video Solution

A = ϕ

139. Write the following as intervals :

Watch Video Solution

{x : x ∈ R, − 4 < x ≤ 6}

https://dl.doubtnut.com/l/_4vXl3BaK9FOq
https://dl.doubtnut.com/l/_oj72opXgNPnK
https://dl.doubtnut.com/l/_41QrJq6jMlNp


140. Write the following as intervals :

Watch Video Solution

{x : x ∈ R, − 12 < x < − 10}

141. Write the following as intervals :

Watch Video Solution

{x : x ∈ R, 0 ≤ x < 7}

142. Write the following as intervals :

{x : x ∈ R, 3 ≤ x ≤ 4}

https://dl.doubtnut.com/l/_vvryLMMolqGV
https://dl.doubtnut.com/l/_UqLYLC1uGhTb
https://dl.doubtnut.com/l/_xZk5r5H2pzZ0


Watch Video Solution

143. Write the following interval in set-builder

form : (-3,0)

Watch Video Solution

144. Write the following interval in set-builder

form : [6,12]

Watch Video Solution

https://dl.doubtnut.com/l/_xZk5r5H2pzZ0
https://dl.doubtnut.com/l/_f1AnNSNxdGp9
https://dl.doubtnut.com/l/_Q06QdGehaQtM


145. Write the following interval in set-builder

form : [6,12]

Watch Video Solution

146. Write the following interval in set-builder

form : [-23,5)

Watch Video Solution

147. What universal set(s) would you propose for

each of the following : (i) The set of right

https://dl.doubtnut.com/l/_Vva1P74JGKa2
https://dl.doubtnut.com/l/_hA8dLadYdmSh
https://dl.doubtnut.com/l/_L0B0pllUnqXk


triangles. (ii) The set of isosceles triangles.

Watch Video Solution

148. What universal set(s) would you propose for

each of the following : (i) The set of right

triangles. (ii) The set of isosceles triangles.

Watch Video Solution

149. Given the sets A = {1, 3, 5), B = {2, 4, 6} and C =

{0, 2, 4, 6, 8), which of the following may be

considered as universal set (s) for all the three

https://dl.doubtnut.com/l/_L0B0pllUnqXk
https://dl.doubtnut.com/l/_0B0exQXEun3o
https://dl.doubtnut.com/l/_hvPiglz6tCck


sets A, B and C (i) {0,1, 2, 3, 4, 5, 6} (ii) ϕ (iii)

{0,1,2,3,4,5,6,7,8,9,10}
(iv) {1,2,3,4,5,6,7,8}

Watch Video Solution

150. Decide, among the following sets, which sets

are subsets of one and another: A = { x : x  R

and x satisfy  }, B = { 2, 4, 6 }, C =

{ 2, 4, 6, 8, . . . }, D = { 6 }.

Watch Video Solution

∈

x2 − 8x + 12 = 0

151. Prove that  implies .A ⊂ ϕ A = ϕ

https://dl.doubtnut.com/l/_hvPiglz6tCck
https://dl.doubtnut.com/l/_8YSwLcm8e2HH
https://dl.doubtnut.com/l/_s0qSkDZGWFP4


Watch Video Solution

152. Let A, B and C be three sets. If  and 

, is it true that  ? If not, give an

example.

Watch Video Solution

A ∈ B

B ⊂ C A ⊂ C

153. Prove that .

Watch Video Solution

A ⊂ B, B ⊂ C ⇒ A ⊂ C

https://dl.doubtnut.com/l/_s0qSkDZGWFP4
https://dl.doubtnut.com/l/_ZCwwoa5KfxoE
https://dl.doubtnut.com/l/_q7BwNO9mELYr


154. Prove that  and 

.

Watch Video Solution

A ⊆ B, B ⊆ C

C ⊆ A ⇒ A = C

155. If A= {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8 }and

D = { 7, 8, 9, 10 }, find:- 

Watch Video Solution

A ∪ B

156. Which of the following pairs of sets are

disjoint:- {1, 2. 3, 4} and {x : x is a natural number

https://dl.doubtnut.com/l/_wSFnaCuyuT7v
https://dl.doubtnut.com/l/_1Exgy3oUfvEo
https://dl.doubtnut.com/l/_qdljLex3BrQ5


and  }

Watch Video Solution

4 ≤ x ≤ 6

157. Which of the following pairs of sets are

disjoint:- { a, e, i, o, u } and { c, d, e, f}

Watch Video Solution

158. Which of the following pairs of sets are

disjoint:- {x : x is an even integer } and {x : x is an

odd integer}

Watch Video Solution

https://dl.doubtnut.com/l/_qdljLex3BrQ5
https://dl.doubtnut.com/l/_RdmrQiArmzh8
https://dl.doubtnut.com/l/_oVN3q5YS1k7z


159. State the following statement is true or false.

Justify your answer. { 2, 3, 4, 5 } and { 3, 6} are

disjoint sets.

Watch Video Solution

160. State the following statement is true or false.

Justify your answer. { 2, 6, 10 } and { 3, 7, 11} are

disjoint sets.

Watch Video Solution

https://dl.doubtnut.com/l/_oVN3q5YS1k7z
https://dl.doubtnut.com/l/_oYvtGzRMxLE4
https://dl.doubtnut.com/l/_9XvHcwOusRHH


161. State the following statement is true or false.

Justify your answer. { 2, 6, 10, 14 } and { 3, 7, 11, 15}

are disjoint sets.

Watch Video Solution

162. State whether the following statement is true

of false . Justify your answer. 

{a, b, c, d} and {a, e, i, o, u} are disjoint sets.

Watch Video Solution

https://dl.doubtnut.com/l/_1fo8tGdvhwRr
https://dl.doubtnut.com/l/_kcdnXXrjbm4R


163. Find the (a) union (b) intersection of the

following pair of sets : 

A = {2,4,6,8}, B= {6, 8, 10, 12}.

Watch Video Solution

164. Find the (a) union (b) intersection of the

following pair of sets : 

A = {1,3,5}, B= {1,2,3}.

Watch Video Solution

https://dl.doubtnut.com/l/_GX0jiakUi97l
https://dl.doubtnut.com/l/_DwdJQicRLbuc


165. Find the (a) union (b) intersection of the

following pair of sets : 

A = {a,b,c}: B = {a, e, i, o, u}.

Watch Video Solution

166. Find the (a) union (b) intersection of the

following pair of sets : 

A = {1,2,3}, .

Watch Video Solution

B = ϕ

https://dl.doubtnut.com/l/_cxinq0nRMwuc
https://dl.doubtnut.com/l/_4Qu1lpriRiL8


167. Find the (a) union (b) intersection of the

following pair of sets : 

A = {x:.x is a natural number and multiple of 3}, B =

{x:.x is a natural number less than 6}.

Watch Video Solution

168. Find the union of each of the following pairs

of set : A = {x : x is a natural number and

 } B = {x : x is a natural number and 6 < x

< 10 }

Watch Video Solution

1 < x ≤ 6

https://dl.doubtnut.com/l/_Nkcaf8uGzcmd
https://dl.doubtnut.com/l/_2WkpTXt74HaH


169. Find the (a) union (b) intersection of the

following pair of sets : 

A =  and }, B={1, 2,3}.

Watch Video Solution

{x : x ∈ Z + x2 > 7

170. Find the (a) union (b) intersection of the

following pair of sets : 

A =  , B= {  and x<0}.

Watch Video Solution

{x : x ∈ Z +} x : x ∈ Z

https://dl.doubtnut.com/l/_2WkpTXt74HaH
https://dl.doubtnut.com/l/_9ug0emZpVYVQ
https://dl.doubtnut.com/l/_vvQyxadp5kqO
https://dl.doubtnut.com/l/_kSNKnQPvPEht


171. Find the (a) union (b) intersection of the

following pair of sets : 

A = x 4 ,
B= in N and 

< < }`.

Watch Video Solution

{x : x ∈ N and 1 < ≤ } {x : x

4 x 9

172. Let A = {a,e,i, o, u} and B= {a, i, u}. Show that

.

Watch Video Solution

A ∪ B = A

https://dl.doubtnut.com/l/_kSNKnQPvPEht
https://dl.doubtnut.com/l/_f1Lkqx0QyJ3P


173. Let A = {1,2, 3,4, 5, 6, 7, 8, 9, 10} and
B = {2, 3,5,

7}. Find  and prove that .

Watch Video Solution

A ∩ B A ∩ B = B

174. Let X = {Ram, Geeta, Akbar} be the set of

students of XI class who are in School Hockey

team.
 Let Y = {Geeta, David, Ashok} be the set of

students of XI class who are in School Football

team.
 Find  and  and interpret the

set.

Watch Video Solution

X ∪ Y X ∩ Y

https://dl.doubtnut.com/l/_5aGq6zIiwFZu
https://dl.doubtnut.com/l/_yz8yIFhGYxJb


175. Let A = { a, b }, B = {a, b, c}. Is A  B ? What is

A  B?

Watch Video Solution

⊂

∪

176. If A and B are two sets such that , then

what is  ?

Watch Video Solution

A ⊂ B

A ∪ B

177. Prove that  implies A=B.A ∪ B = A ∩ B

https://dl.doubtnut.com/l/_yz8yIFhGYxJb
https://dl.doubtnut.com/l/_n4ZvDufuqbix
https://dl.doubtnut.com/l/_A5EYIgGoPqcQ
https://dl.doubtnut.com/l/_VRI3VXpALa9f


Watch Video Solution

178. If A = { 3, 5, 7, 9, 11 }, B = {7, 9, 11, 13}, C = {11, 13,

15}andD = {15, 17}, find:- 

Watch Video Solution

A ∩ B

179. If A = { 3, 5, 7, 9, 11 }, B = {7, 9, 11, 13}, C = {11, 13,

15}andD = {15, 17}, find:- 

Watch Video Solution

B ∩ C

https://dl.doubtnut.com/l/_VRI3VXpALa9f
https://dl.doubtnut.com/l/_3UFw9A7c4UGG
https://dl.doubtnut.com/l/_ZYVpthpOu9Zs


180. If A = { 3, 5, 7, 9, 11 }, B = {7, 9, 11, 13}, C = {11, 13,

15}andD = {15, 17}, find:- 

Watch Video Solution

A ∩ C

181. If A = { 3, 5, 7, 9, 11 }, B = {7, 9, 11, 13}, C = {11, 13,

15}andD = {15, 17}, find:- 

Watch Video Solution

B ∩ D

182. If A = { 3, 5, 7, 9, 11 }, B = {7, 9, 11, 13}, C = {11, 13,

15}andD = {15, 17}, find:- A ∩ D

https://dl.doubtnut.com/l/_03meD0XVvLFU
https://dl.doubtnut.com/l/_M9MkiF9soUEl
https://dl.doubtnut.com/l/_SOsZ6rzYiXsd


Watch Video Solution

183. If A = { 3, 5, 7, 9, 11 }, B = {7, 9, 11, 13}, C = {11, 13,

15}andD = {15, 17}, find:- 

Watch Video Solution

A ∩ (B ∪ C)

184. If A = { 3, 5, 7, 9, 11 }, B = {7, 9, 11, 13}, C = {11, 13,

15}andD = {15, 17}, find:- 

Watch Video Solution

A ∩ C ∩ D

https://dl.doubtnut.com/l/_SOsZ6rzYiXsd
https://dl.doubtnut.com/l/_ez46UNp8QoDL
https://dl.doubtnut.com/l/_Dly8lsbWbpHI


185. If A = { 3, 5, 7, 9, 11 }, B = {7, 9, 11, 13}, C = {11, 13,

15}andD = {15, 17}, find:- 

Watch Video Solution

A ∩ (B ∪ D)

186. If A = { 3, 5, 7, 9, 11 }, B = {7, 9, 11, 13}, C = {11, 13,

15}andD = {15, 17}, find:- 

Watch Video Solution

(A ∩ B) ∩ (B ∪ C)

187. If A = { 3, 5, 7, 9, 11 }, B = {7, 9, 11, 13}, C = {11, 13,

15}andD = {15, 17}, find:- (A ∪ D) ∩ (B ∪ C)

https://dl.doubtnut.com/l/_yK0BPOhANi0l
https://dl.doubtnut.com/l/_BgKIRQ7WDocD
https://dl.doubtnut.com/l/_8y53j7tETI6Z


Watch Video Solution

188. If A = {x : x is a natural number }, B = {x : x is an

even natural number} C = {x : x is an odd natural

number}and D = {x : x is a prime number }, find :-

Watch Video Solution

A ∩ B

189. If A = {x : x is a natural number }, B = {x : x is an

even natural number} C = {x : x is an odd natural

https://dl.doubtnut.com/l/_8y53j7tETI6Z
https://dl.doubtnut.com/l/_mL9ls1eaGVbs
https://dl.doubtnut.com/l/_Wai6y2uO8kpv


number}and D = {x : x is a prime number }, find :-

Watch Video Solution

B ∩ C

190. If A = {x : x is a natural number }, B = {x : x is an

even natural number} C = {x : x is an odd natural

number}and D = {x : x is a prime number }, find :-

Watch Video Solution

B ∩ D

https://dl.doubtnut.com/l/_Wai6y2uO8kpv
https://dl.doubtnut.com/l/_fAS5yjm9v3es


191. If A = {x : x is a natural number }, B = {x : x is an

even natural number} C = {x : x is an odd natural

number}and D = {x : x is a prime number }, find :-

Watch Video Solution

A ∩ C

192. If A = {x : x is a natural number }, B = {x : x is an

even natural number} C = {x : x is an odd natural

number}and D = {x : x is a prime number }, find :-

Watch Video Solution

A ∩ D

https://dl.doubtnut.com/l/_7bHQKUHTGbls
https://dl.doubtnut.com/l/_jXcW12sKqwCt


193. If A = {x : x is a natural number }, B = {x : x is an

even natural number} C = {x : x is an odd natural

number}and D = {x : x is a prime number }, find :-

Watch Video Solution

C ∩ D

194. Let B x:x is a multiple

of 3, x in Z} C {x:x is a negative integer} D

{x:x is an odd integer} Find A  B`.

Watch Video Solution

A = {x : x ∈ Z +}, = {

, = , =

. : ∩

https://dl.doubtnut.com/l/_jXcW12sKqwCt
https://dl.doubtnut.com/l/_oMGzV8489HA3
https://dl.doubtnut.com/l/_t0tDcNZ9Ox7a


195. Let  {x: x in } {x:x is a multiple

of 3, x  Z} {x:x is a negative integer}

{x:x is an odd integer} Find B  C`.

Watch Video Solution

A = Z + , B =

∈ , C =

, D = . : ∩

196. Let {x: x in } {x:x is a multiple of

3, x  Z} {x:x is a negative integer}

{x:x is an odd integer} Find C D`.

Watch Video Solution

A = Z + , B =

∈ , C = , D =

. : ∩

https://dl.doubtnut.com/l/_LwaD7PzxaJhk
https://dl.doubtnut.com/l/_MqcLYKvRN08a


197. Let {x: x in } {x:x is a multiple of

3, x  Z} {x:x is a negative integer}

{x:x is an odd integer} Find A  C`.

Watch Video Solution

A = Z + , B =

∈ , C = , D =

. : ∩

198. Let {x: x in } {x:x is a multiple of

3, x  Z} {x:x is a negative integer}

{x:x is an odd integer} Find A D`.

Watch Video Solution

A = Z + , B =

∈ , C = , D =

. : ∩

https://dl.doubtnut.com/l/_V3Wm8awGYJfo
https://dl.doubtnut.com/l/_yeb0lNIWdnme


199. Let {x: x in } {x:x is a multiple of

3, x  Z} {x:x is a negative integer}

{x:x is an odd integer} Find B D`.

Watch Video Solution

A = Z + , B =

∈ , C = , D =

. : ∩

200. If , find  and 

 .

Watch Video Solution

Nk = {kn : n ∈ N} N3 ∩ N5

N4 ∩ N6

https://dl.doubtnut.com/l/_7xgTmRBYlRPI
https://dl.doubtnut.com/l/_4ChWyjeO2Fwc


201. If , describe  and 

.

Watch Video Solution

Na = {an ∣ n ∈ N} N4 ∩ N6

N3 ∩ N5

202. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 },

C = { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

A-B

Watch Video Solution

https://dl.doubtnut.com/l/_2KYhDKPO064V
https://dl.doubtnut.com/l/_l91M5smvIzib


203. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 },

C = { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

A-C

Watch Video Solution

204. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 },

C = { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

A-D

Watch Video Solution

https://dl.doubtnut.com/l/_3e5dNFSiuP9S
https://dl.doubtnut.com/l/_APFBC2HT7Ztc


205. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 },

C = { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

B-A

Watch Video Solution

206. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 },

C = { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

C-A

Watch Video Solution

https://dl.doubtnut.com/l/_S0gMzswSpu1z
https://dl.doubtnut.com/l/_xfObXdtsopVN


207. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 },

C = { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

D-A

Watch Video Solution

208. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 },

C = { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

B-C

Watch Video Solution

https://dl.doubtnut.com/l/_TqeznMdEmsIA
https://dl.doubtnut.com/l/_fuFQTiaz36at


209. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 },

C = { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

B-D

Watch Video Solution

210. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 },

C = { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

C-B

Watch Video Solution

https://dl.doubtnut.com/l/_BIOM6ar5h7yg
https://dl.doubtnut.com/l/_nqjIwefHMpff


211. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 }, C

= { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

D-B

Watch Video Solution

212. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 },

C = { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

C-D

Watch Video Solution

https://dl.doubtnut.com/l/_TpDCVQXGXHeD
https://dl.doubtnut.com/l/_lf8ItuWBo0Mh


213. If A= {3, 6, 9, 12, 15, 18, 21}, B = { 4, 8, 12, 16, 20 },

C = { 2, 4, 6, 8, 10, 12, 14, 16 }, D = {5, 10, 15, 20 }, find:-

D-C

Watch Video Solution

214. If X= { a, b, c, d } and Y ={f, b, d, g}, find:- X-Y

Watch Video Solution

215. If X= { a, b, c, d } and Y ={f, b, d, g}, find:- Y-X

Watch Video Solution

https://dl.doubtnut.com/l/_w8zm1yjOYaD5
https://dl.doubtnut.com/l/_U1hF4tig98De
https://dl.doubtnut.com/l/_opNymfVXsM9D


216. If X= { a, b, c, d } and Y ={f, b, d, g}, find:- 

Watch Video Solution

X ∩ Y

217. If R is the set of real numbers and Q is the set

of rational numbers, then what is R-Q?

Watch Video Solution

218. Let V={a,e, i,o, u} and B (a, i, k, u}.
Find: V -B and

B - V.

https://dl.doubtnut.com/l/_opNymfVXsM9D
https://dl.doubtnut.com/l/_bkyYa3rv1tgj
https://dl.doubtnut.com/l/_k8yvcoR02Jcx
https://dl.doubtnut.com/l/_02LRr1ZeEtQz


Watch Video Solution

219. Let A= {1, 2, 3, 4, 5, 6} and B = {2, 4, 6, 8}. Find : A

- B and B - A.
Show that .

Watch Video Solution

A − B ≠ B − A

220. If U = { a, b, c, d, e, f, g, h}, find the

complements of the following set : A = {a, b, c}

Watch Video Solution

https://dl.doubtnut.com/l/_02LRr1ZeEtQz
https://dl.doubtnut.com/l/_WPloReJD0Ph0
https://dl.doubtnut.com/l/_0x5KDdzker6r


221. If U = { a, b, c, d, e, f, g, h}, find the

complements of the following set : B={d, e, f, g}

Watch Video Solution

222. If U = { a, b, c, d, e, f, g, h}, find the

complements of the following set : C = {a, c, e, g}

Watch Video Solution

223. If U = { a, b, c, d, e, f, g, h}, find the

complements of the following set : D = {f, g, h, a}

https://dl.doubtnut.com/l/_2gOUCspwirMc
https://dl.doubtnut.com/l/_vJygWTE3sq8b
https://dl.doubtnut.com/l/_P0IYrSWZyBNX


Watch Video Solution

224. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: { x : x is an odd natural number }

Watch Video Solution

225. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: {x : x is an even natural number}

Watch Video Solution

https://dl.doubtnut.com/l/_P0IYrSWZyBNX
https://dl.doubtnut.com/l/_Ay3XGMrgFkpa
https://dl.doubtnut.com/l/_u9SMDNRulaFA


226. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: { x : x is a prime number }

Watch Video Solution

227. Let N be the universal set. Write the

complement of the following set : 

{x: x  N and x = 3n for some n  N}.

Watch Video Solution

∈ ∈

https://dl.doubtnut.com/l/_u9SMDNRulaFA
https://dl.doubtnut.com/l/_9vLOO5jGmS9d
https://dl.doubtnut.com/l/_Z97UXaACttP1
https://dl.doubtnut.com/l/_MZ2iJ9vC7qgD


228. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: { x : x is a perfect square }

Watch Video Solution

229. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: { x : x is a perfect cube}

Watch Video Solution

https://dl.doubtnut.com/l/_MZ2iJ9vC7qgD
https://dl.doubtnut.com/l/_zsDLPq87pZa5


230. Let N be the universal set. Write the

complement of the following set : 

{x: x  N and x+5=7}.

Watch Video Solution

∈

231. Let N be the universal set. Write the

complement of the following set : 

{x: x  N and 2x +5 = 11}.

Watch Video Solution

∈

https://dl.doubtnut.com/l/_XGsB7TglH5U7
https://dl.doubtnut.com/l/_kspgZvJlr9Ps


232. Let N be the universal set. Write the

complement of the following set : 

{x: x  N and }.

Watch Video Solution

∈ x ≥ 6

233. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: {x : x is a natural number divisible by

3 and 5}

Watch Video Solution

https://dl.doubtnut.com/l/_Kx2A5d6GeQQZ
https://dl.doubtnut.com/l/_FwEdMwB6k7TT
https://dl.doubtnut.com/l/_1rUQTPH41Xgm


234. Fill in the blanks to make the following a true

statement : 

Watch Video Solution

A ∪ A' = ...

235. Fill in the blanks to make the following a true

statement : 

Watch Video Solution

ϕ' ∩ A = ...

236. Fill in the blanks to make the following a true

statement : A ∩ A' = ...

https://dl.doubtnut.com/l/_1rUQTPH41Xgm
https://dl.doubtnut.com/l/_FpeMOAhwvorP
https://dl.doubtnut.com/l/_f4q3MbEc9CC0


Watch Video Solution

237. Fill in the blanks to make the following a true

statement : 

Watch Video Solution

U' ∩ A = ...

238. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: {x : x is an even natural number}

Watch Video Solution

https://dl.doubtnut.com/l/_f4q3MbEc9CC0
https://dl.doubtnut.com/l/_5k0zVDmckEL6
https://dl.doubtnut.com/l/_IK6LAFbmgEua
https://dl.doubtnut.com/l/_uHrgT7cH0xiN


239. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: { x : x is an odd natural number }

Watch Video Solution

240. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: {x : x is a positive multiple of 3}

Watch Video Solution

https://dl.doubtnut.com/l/_uHrgT7cH0xiN
https://dl.doubtnut.com/l/_2BhEBe9TVRlI


241. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: { x : x is a prime number }

Watch Video Solution

242. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: {x : x is a natural number divisible by

3 and 5}

Watch Video Solution

https://dl.doubtnut.com/l/_mjUhFBszpc1S
https://dl.doubtnut.com/l/_2zdYQ63Vkj3q
https://dl.doubtnut.com/l/_ZVhIeAcJfhc3


243. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: { x : x is a perfect square }

Watch Video Solution

244. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: { x : x is a perfect cube}

Watch Video Solution

https://dl.doubtnut.com/l/_ZVhIeAcJfhc3
https://dl.doubtnut.com/l/_SV6ZKtqrg2hF


245. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: 

Watch Video Solution

{x : x + 5 = 8}

246. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: 

Watch Video Solution

{x : 2x + 5 = 9}

https://dl.doubtnut.com/l/_7t6T82sH4uh0
https://dl.doubtnut.com/l/_LXTCHP2oWbph


247. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: 

Watch Video Solution

{x : x ≥ 7}

248. Taking the set of natural numbers as the

universal set, write down the complements of the

following set: {  and  }

Watch Video Solution

x : x ∈ N 2x + 1 > 10

https://dl.doubtnut.com/l/_IkMy3ZtyjYvI
https://dl.doubtnut.com/l/_JbySBkV1OL8r


249. If U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10} and A = {1, 3, 5, 7,

9}. Find A′.

Watch Video Solution

250. Let U be universal set of all students of class

XI of a co-educational school and A be the set of

all girls in class XI. Find A’.

Watch Video Solution

https://dl.doubtnut.com/l/_Uob4mE0CfCQg
https://dl.doubtnut.com/l/_jN6hii3Qhx9l


251. Let U be the set of all triangles in a plane. If A

is the set of all triangles with at least one angle

different from , what is A'?

Watch Video Solution

60∘

252. Let A = {1, 2, 3, 4}, B = {4, 6, 7, 8} and C = {2, 4, 6,

8}. Verify the following identity : 

.

Watch Video Solution

(A ∪ B) ∪ C = A ∪ (B ∪ C)

https://dl.doubtnut.com/l/_8XVOioz9ERaC
https://dl.doubtnut.com/l/_4QaSUSVY4MDm


253. Let A = {1, 2, 3, 4}, B = {4, 6, 7, 8} and C = {2, 4, 6,

8}. Verify the following identity : 

.

Watch Video Solution

(A ∩ B) ∩ C = A ∩ (B ∩ C)

254. Let A = {1, 2, 3, 4}, B = {4, 6, 7, 8} and C = {2, 4, 6,

8}. Verify the following identity : 

 .

Watch Video Solution

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

https://dl.doubtnut.com/l/_qfl8Ni0AZbf7
https://dl.doubtnut.com/l/_EdhZDBlBcy6m


255. Let A = {1, 2, 3, 4}, B = {4, 6, 7, 8} and C = {2, 4, 6,

8}. Verify the following identity : 

 .

Watch Video Solution

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

256. If A = {1, 2, 3,4}, B= {2, 4,6, 8} and C= { 3, 4, 5,6},

verify that : .

Watch Video Solution

A ∩ (B ∩ C) = (A ∩ B) ∩ C

https://dl.doubtnut.com/l/_3ubPt5mwBvaB
https://dl.doubtnut.com/l/_vGbyzXf0LqNr


257. If U ={1,2, 3,4,5,6, 7, 8,9, 10}, A= {1, 3,5,7,9}, B =

{2,4, 6, 8, 10} and C = {1 2, 3, 4}, then: 

What is ?

Watch Video Solution

C c

258. If U ={1,2, 3,4,5,6, 7, 8,9, 10}, A= {1, 3,5,7,9}, B =

{2,4, 6, 8, 10} and C = {1 2, 3, 4}, then: 

What is ?

Watch Video Solution

Ac

https://dl.doubtnut.com/l/_cEDW0A9c7Bcc
https://dl.doubtnut.com/l/_bCPjcwNt92jD


259. If U ={1,2, 3,4,5,6, 7, 8,9, 10}, A= {1, 3,5,7,9}, B =

{2,4, 6, 8, 10} and C = {1 2, 3, 4}, then: 

What is ?

Watch Video Solution

A ∪ Ac

260. If U ={1,2, 3,4,5,6, 7, 8,9, 10}, A= {1, 3,5,7,9}, B =

{2,4, 6, 8, 10} and C = {1 2, 3, 4}, then: 

What is ?

Watch Video Solution

A ∩ Ac

https://dl.doubtnut.com/l/_U5YM11XzUR6T
https://dl.doubtnut.com/l/_1FF6I4rZlBFr


261. If U ={1,2, 3,4,5,6, 7, 8,9, 10}, A= {1, 3,5,7,9}, B =

{2,4, 6, 8, 10} and C = {1 2, 3, 4}, then: 

What is ?

Watch Video Solution

A ∩ (B − C)

262. If U ={1,2, 3,4,5,6, 7, 8,9, 10}, A= {1, 3,5,7,9}, B =

{2,4, 6, 8, 10} and C = {1 2, 3, 4}, then: 

What is  ?

Watch Video Solution

A − (B ∪ C)

https://dl.doubtnut.com/l/_MridOs0OHfKh
https://dl.doubtnut.com/l/_9WRKp0p0Ntag


263. If U ={1,2, 3,4,5,6, 7, 8,9, 10}, A= {1, 3,5,7,9}, B =

{2,4, 6, 8, 10} and C = {1 2, 3, 4}, then: 

What is  ?

Watch Video Solution

A − (B ∩ C)

264. If U ={1,2, 3,4,5,6, 7, 8,9, 10}, A= {1, 3,5,7,9}, B =

{2,4, 6, 8, 10} and C = {1 2, 3, 4}, then: 

What is A - (B - C) ?

Watch Video Solution

https://dl.doubtnut.com/l/_1pOKQggEfReq
https://dl.doubtnut.com/l/_JSVyf2pC5X2j


265. If U ={1,2, 3,4,5,6, 7, 8,9, 10}, A= {1, 3,5,7,9}, B =

{2,4, 6, 8, 10} and C = {1 2, 3, 4}, then: 

What is  ?

Watch Video Solution

Ac ∩ (B ∪ C)c

266. If U ={1,2, 3,4,5,6, 7, 8,9, 10}, A= {1, 3,5,7,9}, B =

{2,4, 6, 8, 10} and C = {1 2, 3, 4}, then: 

What is  ?

Watch Video Solution

Ac ∪ (Bc ∩ C c)

https://dl.doubtnut.com/l/_a7xjo317pLNW
https://dl.doubtnut.com/l/_y0lSGktqV3iN


267. If U= {a, e, i, o,u}, A= {a, e, i}, B= {e, o, u}, C = (a, i,

u}, then: 

What is A  U?

Watch Video Solution

∪

268. If U= {a, e, i, o,u}, A= {a, e, i}, B= {e, o, u}, C = (a, i,

u}, then: 

What is A  U?

Watch Video Solution

∩

https://dl.doubtnut.com/l/_1JVmzvLhLflb
https://dl.doubtnut.com/l/_Z39hkx4XbF6T


269. If U= {a, e, i, o,u}, A= {a, e, i}, B= {e, o, u}, C = (a, i,

u}, then: 

What is ?

Watch Video Solution

A ∪ ϕ

270. If U= {a, e, i, o,u}, A= {a, e, i}, B= {e, o, u}, C = (a, i,

u}, then: 

What is ?

Watch Video Solution

A ∩ ϕ

https://dl.doubtnut.com/l/_WLv2oAr074va
https://dl.doubtnut.com/l/_RvmdbiRAW0iv


271. If U= {a, e, i, o,u}, A= {a, e, i}, B= {e, o, u}, C = (a, i,

u}, then: 

Verify that .

Watch Video Solution

A ∩ (B − C) = (A ∩ B) − (A ∩ C)

272. If U= {a, e, i, o,u}, A= {a, e, i}, B= {e, o, u}, C = (a, i,

u}, then: 

Verify that .

Watch Video Solution

A − (B ∪ C) = (A − B) ∩ (A − C)

https://dl.doubtnut.com/l/_e5RLcc4jPD8z
https://dl.doubtnut.com/l/_n6efxKaIB6sN


273. If U= {a, e, i, o,u}, A= {a, e, i}, B= {e, o, u}, C = (a, i,

u}, then: 

Verify that .

Watch Video Solution

A − (B ∩ C) = (A − B) ∪ (A − C)

274. Prove that : (i)  (ii) 

.

Watch Video Solution

A ⊂ (A ∪ B)

B ⊂ (A ∪ B)

https://dl.doubtnut.com/l/_EpaeiWvBXieC
https://dl.doubtnut.com/l/_0iypmbXu3W7Q


275. Prove that : (i)  (ii) 

.

Watch Video Solution

(A ∩ B) ⊂ A

(A ∩ B) ⊂ B

276. Prove that .

Watch Video Solution

Ac − Bc = B − A

277. Prove that : .

Watch Video Solution

Bc − Ac = A − B

https://dl.doubtnut.com/l/_7XNtTt19VoK6
https://dl.doubtnut.com/l/_eC9lYXa1x0pe
https://dl.doubtnut.com/l/_coPL9pauzxGf


278. If , show that .

Watch Video Solution

Ac ∪ B = U A ⊂ B

279. Let U = {1, 2, 3, 4, 5, 6}, A = (2, 3} and B = (3, 4, 5}.

Find , ,  and hence show that 

.

Watch Video Solution

A’ B’ A’ ∩ B’, A ∪ B

(A ∪ B)' = A’ ∩ B'

280. If U = (1,2, 3,............., 10} , A = {1, 2, 3, 4, 5}, B = {1,

3, 5, 7, 9}, C = {2, 4, 8, 10}, verify that :

https://dl.doubtnut.com/l/_XZ7ZZjpnlHEc
https://dl.doubtnut.com/l/_lxqypC1XAVqh
https://dl.doubtnut.com/l/_Vi9RDwdSZliB


.

Watch Video Solution

(A ∪ B)c = Ac ∩ Bc

281. If U = (1,2, 3,............., 10} , A = {1, 2, 3, 4, 5}, B = {1, 3,

5, 7, 9}, C = {2, 4, 8, 10}, verify that :

.

Watch Video Solution

(A ∩ B)c = Ac ∪ Bc

282. If U = (1,2, 3,............., 10} , A = {1, 2, 3, 4, 5}, B = {1, 3,

5, 7, 9}, C = {2, 4, 8, 10}, verify that :

.A − B = A ∩ Bc

https://dl.doubtnut.com/l/_Vi9RDwdSZliB
https://dl.doubtnut.com/l/_QwYy7qOpvISt
https://dl.doubtnut.com/l/_dQDu6JgUGE3W


Watch Video Solution

283. If U = (1,2, 3,............., 10} , A = {1, 2, 3, 4, 5}, B = {1, 3,

5, 7, 9}, C = {2, 4, 8, 10}, verify that :

 .

Watch Video Solution

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

284. If A={1,2,4, 5}, B= {2, 3, 5, 6} and C = (4, 5, 6, 7},

then verify that :

.

Watch Video Solution

A ∩ (B − C) = (A ∩ B) − (A ∩ C)

https://dl.doubtnut.com/l/_dQDu6JgUGE3W
https://dl.doubtnut.com/l/_x3hUCz2qZOBR
https://dl.doubtnut.com/l/_c0KHW1joSPwJ


285. If A = {1, 2, 3, 4, 5}, B = {2, 3,5, 7, 9} and C = {3, 4,

6, 8, 10}, then prove that :

.

Watch Video Solution

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

286. Prove that .

Watch Video Solution

A ⊂ B, B ⊂ C ⇒ A ⊂ C

287. Prove the following : .A ⊂ B ⇔ Ac ⊃ Bc

https://dl.doubtnut.com/l/_c0KHW1joSPwJ
https://dl.doubtnut.com/l/_Ft0vFZLMEDVQ
https://dl.doubtnut.com/l/_dyEWBcSn7ljv
https://dl.doubtnut.com/l/_R20JzTI9RPUw


Watch Video Solution

288. Prove the following : .

Watch Video Solution

A ⊂ B ⇔ A ∩ B = A

289. Prove the following : .

Watch Video Solution

A ⊂ B ⇔ A ∪ B = B

290. Prove that following :

 .(x ∉ A ⇒ x ∉ B) ⇔ B ⊂ A

https://dl.doubtnut.com/l/_R20JzTI9RPUw
https://dl.doubtnut.com/l/_Axw0nioaCNPW
https://dl.doubtnut.com/l/_wiTzOOV8NJKG
https://dl.doubtnut.com/l/_OtjZeeJLgwdC


Watch Video Solution

291. Prove that following :

.

Watch Video Solution

(A ∪ B = U) ⇔ Bc ⊂ A ⇔ Ac ⊂ B

292. Prove that following :

, where U is

the universal set.

Watch Video Solution

(A ∩ B = ϕ) ⇔ A ⊂ Bc ⇒ B ⊂ Ac

https://dl.doubtnut.com/l/_OtjZeeJLgwdC
https://dl.doubtnut.com/l/_hea2x0C2N3cP
https://dl.doubtnut.com/l/_jJF5GQfv2UmW
https://dl.doubtnut.com/l/_p494YWTzo0aj


293. Prove the following : .

Watch Video Solution

B − A = B ∩ Ac

294. Prove the following : 

.

Watch Video Solution

(A ∪ B) − A = B − A

295. For sets A,B and C, prove that : 

.

Watch Video Solution

A − (B − C) = (A − B) ∪ (A ∩ C)

https://dl.doubtnut.com/l/_p494YWTzo0aj
https://dl.doubtnut.com/l/_DpgpJSClmcp8
https://dl.doubtnut.com/l/_dgBEGqw2KwuH


296. For sets A,B and C, prove that : 

.

Watch Video Solution

A − (B ∪ C) = (A − B) ∩ (A − C)

297. If A, B and C are any three sets, then prove

that : .

Watch Video Solution

A ∩ (B − C) = (A ∩ B) − (A ∩ C)

https://dl.doubtnut.com/l/_dgBEGqw2KwuH
https://dl.doubtnut.com/l/_6QSfNjsNy4Qe
https://dl.doubtnut.com/l/_1G1rxjT4NBsC


298. If A, B and C are any three sets, then prove

that : .

Watch Video Solution

A ∩ (B − C) = (A ∩ B) − (A ∩ C)

299. For sets A,B and C, prove that : 

.

Watch Video Solution

(A − B) ∩ C = (A ∩ C) − B

300. If A and B are subsets of the universal set U,

then show that : 

https://dl.doubtnut.com/l/_E8ATPI2h4rza
https://dl.doubtnut.com/l/_sUGXygnRY5ge
https://dl.doubtnut.com/l/_T3Lw5AmMWJ92


.

Watch Video Solution

B ⊂ A ∪ B

301. If A and B are subsets of the universal set U,

then show that : 

.

Watch Video Solution

(A ∩ B) ⊂ A

302. If A and B are subsets of the universal set U,

then show that : 

.(A ∩ B) ⊂ B

https://dl.doubtnut.com/l/_T3Lw5AmMWJ92
https://dl.doubtnut.com/l/_4DSRJDGDf9bE
https://dl.doubtnut.com/l/_3Kaz9AONvXIb


Watch Video Solution

303. Using properties of sets, show that

Watch Video Solution

A ∪ (A ∩ B) = A

304. Using properties of sets, show that

Watch Video Solution

A ∩ (A ∪ B) = A

https://dl.doubtnut.com/l/_3Kaz9AONvXIb
https://dl.doubtnut.com/l/_8vRct3xifR7N
https://dl.doubtnut.com/l/_ilCXEjMYByWm


305. If A, B and C are any three sets, then prove

that : .

Watch Video Solution

A ∩ (B − C) = (A ∩ B) − (A ∩ C)

306. Prove that :

.

Watch Video Solution

(A ∪ B) − C = (A − C) ∪ (B − C)

307. If A, B and C are any three sets, then prove

that : .A ∩ (B − C) = (A ∩ B) − (A ∩ C)

https://dl.doubtnut.com/l/_Lpt7xloBT2AY
https://dl.doubtnut.com/l/_6lJdw9L3dUNF
https://dl.doubtnut.com/l/_srgTivtIdqLW


Watch Video Solution

308. Prove that : .

Watch Video Solution

A ∩ (B − A) = ϕ

309. Prove that : .

Watch Video Solution

(A − B) ∩ (B − A) = ϕ

310. Prove that : .

Watch Video Solution

(A − B) ∩ (A ∩ B) = ϕ

https://dl.doubtnut.com/l/_srgTivtIdqLW
https://dl.doubtnut.com/l/_AAlsCg5thuX3
https://dl.doubtnut.com/l/_vwqkptw8OCp0
https://dl.doubtnut.com/l/_oxHWiJhEs1hX


311. Prove that : .

Watch Video Solution

ϕ − A = ϕ

312. Let A and B be two sets. Prove that :

 if and only if .

Watch Video Solution

(A − B) ∪ B = A B ⊂ A

313. Prove that if  and ,

then A= C-B.

A ∪ B = C A ∩ B = ϕ

https://dl.doubtnut.com/l/_oxHWiJhEs1hX
https://dl.doubtnut.com/l/_1wxVb2jpYihm
https://dl.doubtnut.com/l/_z5OyXFLsp6gj
https://dl.doubtnut.com/l/_IZq4ZofkrF9e


Watch Video Solution

314. For any sets A and B, prove that :

.

Watch Video Solution

P (A ∩ B) = P (A) ∩ P (B)

315. Show that for any sets A and B,

 and 

Watch Video Solution

A = (A ∩ B) ∪ (A − B)

A ∪ (B − A) = (A ∪ B)

https://dl.doubtnut.com/l/_IZq4ZofkrF9e
https://dl.doubtnut.com/l/_URMSBrFcAUdL
https://dl.doubtnut.com/l/_kC8lKTcn3DbP
https://dl.doubtnut.com/l/_71Ab4Uqv6Eqp


316. Using properties of sets, show that

Watch Video Solution

A ∪ (A ∩ B) = A

317. Using properties of sets, show that

Watch Video Solution

A ∩ (A ∪ B) = A

318. Show that  need not imply B

= C.

A ∩ B = A ∩ C

https://dl.doubtnut.com/l/_71Ab4Uqv6Eqp
https://dl.doubtnut.com/l/_jxr3wq6V1qqm
https://dl.doubtnut.com/l/_uEc02F7adJZv


Watch Video Solution

319. Prove that if a set has only one clement then

it has 2 subsets.

Watch Video Solution

320. Prove that If  and if B has one element

less than that of A, prove that A has twice as many

subsets as B.

Watch Video Solution

B ⊂ A

https://dl.doubtnut.com/l/_uEc02F7adJZv
https://dl.doubtnut.com/l/_oucV6AZBgZL6
https://dl.doubtnut.com/l/_xVvOHq33iNqb
https://dl.doubtnut.com/l/_XxAA2ZPvMGwC


321. Deduce from these two results that a set with

2 elements has  subsets, a set with 3 elements

has  subsets, and so on.
How many subsets does

a set with n elements have ?

Watch Video Solution

22

23

322. Prove that .

Watch Video Solution

Ac − Bc = B − A

https://dl.doubtnut.com/l/_XxAA2ZPvMGwC
https://dl.doubtnut.com/l/_L9pYN1lMsMbs


323. Draw appropriate Venn diagram for the

following : 

Watch Video Solution

(A ∪ B)'

324. Draw appropriate Venn diagram for the

following : 

Watch Video Solution

A' ∩ B'

325. Draw appropriate Venn diagram for the

following : (A ∩ B)'

https://dl.doubtnut.com/l/_ImPEy1NEuz83
https://dl.doubtnut.com/l/_XjdlMQgoklSz
https://dl.doubtnut.com/l/_t4ISqDBL4Tjm


Watch Video Solution

326. Draw appropriate Venn diagram for the

following : 

Watch Video Solution

A' ∪ B'

327. Prove that : .

Watch Video Solution

(A ∪ B ∪ C)c = Ac ∩ Bc ∩ C c

https://dl.doubtnut.com/l/_t4ISqDBL4Tjm
https://dl.doubtnut.com/l/_XhW8ZnOSiwYu
https://dl.doubtnut.com/l/_kxHAK1UDjzzu


328. If A = {1, 2, 3}, B= { 4, 5, 6} and C= { 7, 8, 9}, verify

that : .

Watch Video Solution

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

329. Prove that :

.

Watch Video Solution

(A ∪ B) = (A − B) ∪ (B − A) ∪ (A ∩ B)

330. For any two sets A and B, prove that :

.AΔB = (A ∪ B) − (A ∩ B)

https://dl.doubtnut.com/l/_k0riAbNX6V4u
https://dl.doubtnut.com/l/_2F34NU9SOb0N
https://dl.doubtnut.com/l/_qDEhNg9Sc3hD


Watch Video Solution

331. For any two sets A and B, prove that :

.

Watch Video Solution

(A − B) ∪ (B − A) = (A ∪ B) − (A ∩ B)

332. Let A = {1, 2, 3, 4,5}, B = {2, 3, 5, 7} and
C = {1, 2,

4, 6} be the subsets of the universal set
U = {1, 2, 3,

4, 5, 6, 7, 8, 9, 10}.
Draw venn diagrams to represent

the following : .

Watch Video Solution

A ∪ C

https://dl.doubtnut.com/l/_qDEhNg9Sc3hD
https://dl.doubtnut.com/l/_2KVfIzb0GsbW
https://dl.doubtnut.com/l/_FHmXQpcSpDGN


333. Let A = {1, 2, 3, 4,5}, B = {2, 3, 5, 7} and
C = {1, 2,

4, 6} be the subsets of the universal set
U = {1, 2, 3,

4, 5, 6, 7, 8, 9, 10}.
Draw venn diagrams to represent

the following : .

Watch Video Solution

B ∪ C

334. Let A = {1, 2, 3, 4,5}, B = {2, 3, 5, 7} and
C = {1, 2,

4, 6} be the subsets of the universal set
U = {1, 2, 3,

4, 5, 6, 7, 8, 9, 10}.
Draw venn diagrams to represent

the following : .

W t h Vid S l ti

A ∪ B

https://dl.doubtnut.com/l/_FHmXQpcSpDGN
https://dl.doubtnut.com/l/_NbqPqBcyrAjs
https://dl.doubtnut.com/l/_3b2I0dTU7EeJ


Watch Video Solution

335. Let A = {1, 2, 3}, B = {3, 4} and C = {4, 5, 6}, the

 is

Watch Video Solution

A ∪ (B ∩ C)

336. If A = {0, 1, 2, 3, 5,6}, B = {1,3, 5, 7, 9} and C = {0,

5, 10, 20,40}, find

Watch Video Solution

https://dl.doubtnut.com/l/_3b2I0dTU7EeJ
https://dl.doubtnut.com/l/_yzRDrHhLxap0
https://dl.doubtnut.com/l/_4OqRM9kfhKR0


337. Let A = {1, 2, 3}, B = {3, 4} and C = {4, 5, 6}, the

 is

Watch Video Solution

A ∪ (B ∩ C)

338. Let A = {1, 2, 3, 4,5}, B = {2, 3, 5, 7} and
C = {1, 2,

4, 6} be the subsets of the universal set
U = {1, 2, 3,

4, 5, 6, 7, 8, 9, 10}.
Draw venn diagrams to represent

the following : .

Watch Video Solution

(A ∪ B) − C

https://dl.doubtnut.com/l/_GdbzVsyqF2tI
https://dl.doubtnut.com/l/_KZKxPpUkEr19


339. Let A = {1, 2, 3, 4,5}, B = {2, 3, 5, 7} and
C = {1, 2,

4, 6} be the subsets of the universal set
U = {1, 2, 3,

4, 5, 6, 7, 8, 9, 10}.
Draw venn diagrams to represent

the following : .

Watch Video Solution

(A ∩ C) − B

340. Let A = {1, 2, 3, 4,5}, B = {2, 3, 5, 7} and
C = {1, 2,

4, 6} be the subsets of the universal set
U = {1, 2, 3,

4, 5, 6, 7, 8, 9, 10}.
Draw venn diagrams to represent

the following : .

Watch Video Solution

(A ∪ B) ∩ C

https://dl.doubtnut.com/l/_M4ABYVzskm57
https://dl.doubtnut.com/l/_nkxLi0bIoPYC


341. If X and Y are two sets such that  has

50 elements, X has 28 elements and Y has 32

elements, how many elements does  have ?

Watch Video Solution

X ∪ Y

X ∩ Y

342. If X and Y are two sets such that  has

18 elements, X has 8 elements andY has 15

elements , how many elements does  have?

Watch Video Solution

X ∪ Y

X ∩ Y

https://dl.doubtnut.com/l/_nkxLi0bIoPYC
https://dl.doubtnut.com/l/_wR2vaipXoNl8
https://dl.doubtnut.com/l/_5veqqbCtXcby
https://dl.doubtnut.com/l/_vAcWmGuCnJe6


343. If A and B are two sets such that  has

20 elements, A has 8 elements and B has 16

elements, how many elements does  have ?

Watch Video Solution

A ∪ B

A ∩ B

344. If S and T are two sets such that S has 21

elements, T has 32 elements, and  has 11

elements, how many elements does  have?

Watch Video Solution

S ∩ T

S ∪ T

https://dl.doubtnut.com/l/_vAcWmGuCnJe6
https://dl.doubtnut.com/l/_xdCXq1TWuLuK


345. If X and Y are two sets such that X has 40

elements,  has 60 elements and  has

10 elements, how many elements does Y have?

Watch Video Solution

X ∪ Y X ∩ Y

346. If A and B are two sets such that :

 and .

Find: n (B), n (A - B) and n (B - A).

Watch Video Solution

n(A) = 20, n(A ∪ B) = 42 n(A ∩ B) = 4

https://dl.doubtnut.com/l/_v4pyRxwdIM0W
https://dl.doubtnut.com/l/_vnyFvfChqVY4


347. If A and B are two sets such that :

 and .

Find: n (B), n (A - B) and n (B - A).

Watch Video Solution

n(A) = 17, n(A ∪ B) = 38 n(A ∩ B) = 2

348. Let n(U)= 700, n(A)= 200, n(B) = 300 and n(A

 B)= 100, then n  =

Watch Video Solution

∩ (Ac ∩ Bc)

https://dl.doubtnut.com/l/_CR03wObQ14GC
https://dl.doubtnut.com/l/_DGEjrAW93GHP


349. A survey shows that 63% of the Indians like

cheese, whereas 76% like apples. If x % of the

Indians like both cheese and apples, then x can be

Watch Video Solution

350. In a group of 400 people, 250 can speak Hindi

and 200 can speak English. How many people can

speak both Hindi and English?

Watch Video Solution

https://dl.doubtnut.com/l/_zVBKX5aZ11LE
https://dl.doubtnut.com/l/_1wJFsF67rZ4R


351. In a school there are 20 teachers who teach

Mathematics or Physics. Of these, 12 teach

Mathematics and 4 teach Physics and

Mathematics. How many teach Physics?

Watch Video Solution

352. In a committee, 50 people speak French, 20

speak Spanish and 10 speak both Spanish and

French. How many speak at least one of these two

languages?

Watch Video Solution

https://dl.doubtnut.com/l/_6kU01u84xJA0
https://dl.doubtnut.com/l/_VMJAYE9b5yVW


353. In a group of people, 50 speak both English

and Hindi and 30 speak English but not Hindi. If all

the people speak at least one of the two

languages, how many speak English?

Watch Video Solution

354. In a group of people, 50 speak both English

and Hindi and 30 speak English but not Hindi. If all

the people speak at least one of the two

languages, how many speak English?

Watch Video Solution

https://dl.doubtnut.com/l/_VMJAYE9b5yVW
https://dl.doubtnut.com/l/_rzEe4JnH2JfC
https://dl.doubtnut.com/l/_cbe1MZfR0KJJ


Watch Video Solution

355. In a group of 70 people 45 speak Hindi

language and 33 speak English language and 10

speak neither Hindi nor English how many can

speak both English as well as Hindi language how

can speak only English language?

Watch Video Solution

356. In a group of students, 100 students know

Hindi, 50 know English and 25 know both. Each of

https://dl.doubtnut.com/l/_cbe1MZfR0KJJ
https://dl.doubtnut.com/l/_oO4A2IxTtw9r
https://dl.doubtnut.com/l/_tD7EQ0Pg28zo


the students knows either Hindi or English. How

many students are there in the group?

Watch Video Solution

357. Out of 80 students who secured first class

marks in Matchematics or in Physics , 50 obtained

first class marks in Mathematics and 10 in both

Physics and Mathematics. How many students

secured first class marks in Physics only ?

Watch Video Solution

https://dl.doubtnut.com/l/_tD7EQ0Pg28zo
https://dl.doubtnut.com/l/_SmmfclvK9w6B


358. In a group of 70 people, 37 like coffee, 52 like

tea and each person likes at least one of the two

drinks. How many people like both coffee and tea?

Watch Video Solution

359. In a survey of 600 students in a school, 150

students were found to be taking tea and 215

taking coffee, 150 were taking both tea and coffee.

Find how many students were taking neither tea

nor coffee?

Watch Video Solution

https://dl.doubtnut.com/l/_gFUmdSA5wQXF
https://dl.doubtnut.com/l/_XLmJGaf17Y9q


360. In a survey of 600 students in a school, 150

students were found to be taking tea and 225

taking coffee, 100 were taking both tea and coffee.

Find how many students were taking neither tea

nor coffee?

Watch Video Solution

361. In a group of 65 people, 40 like cricket, 10 like

both cricket and tennis. How many like tennis only

and not cricket? How many like tennis?

Watch Video Solution

https://dl.doubtnut.com/l/_XLmJGaf17Y9q
https://dl.doubtnut.com/l/_cRovyxndJgwD
https://dl.doubtnut.com/l/_wqH2b84WUGDx


Watch Video Solution

362. In a class of 35 students, 24 like to play cricket

and 16 like to play football. Also, each student likes

to play at least one of the two games. How many

students like to play both cricket and football ?

Watch Video Solution

363. In a class of 25 students, 12 have taken

Mathematics. 8 have taken Mathematics but not

Biology. Find the number of students who have

taken both Mathematics and Biology and the

https://dl.doubtnut.com/l/_wqH2b84WUGDx
https://dl.doubtnut.com/l/_obi1gtKCNLkb
https://dl.doubtnut.com/l/_giQjbtK5QKxh


number of those who have taken Biology but not

Mathematics. Each student has taken either

Mathematics or Biology or both.

Watch Video Solution

364. A survey shows that 74% of the Indians like

apples, whereas 68% like oranges. What

percentage of the Indians like both apples and

Oranges ?

Watch Video Solution

https://dl.doubtnut.com/l/_giQjbtK5QKxh
https://dl.doubtnut.com/l/_kqRes5cSQI2g


365. In a group of 400 people, 250 can speak Hindi

and 200 can speak English. How many people can

speak both Hindi and English?

Watch Video Solution

366. 75 students secured first division marks

either in English or in Mathematics or in both. If

50 of them secured first division in Mathematics

and 10 in both English and Mathematics, then

how many got first division in English ?

Watch Video Solution

https://dl.doubtnut.com/l/_IRBz2W9D96Jk
https://dl.doubtnut.com/l/_gJyUazWtGW2z


367. A college awarded 38 medals in Football, 15 in

Basketball and 20 in. Cricket. If these medals went

to a total of 58 men and only three men got

medals in all the three sports, how many received

medals in exactly two of the three sports?

Watch Video Solution

368. In a group of 50 people, 30 like to play cricket,

25 like to play football and 32 like to play hockey.

Assume that each one likes to play at least one of

the three games. If 15 people like to play both

https://dl.doubtnut.com/l/_gJyUazWtGW2z
https://dl.doubtnut.com/l/_CklfOCuRh9Ui
https://dl.doubtnut.com/l/_ajmacDek6IUL


cricket as well as football, 11 people like to play

both football as well as hockey and 18 like to play

both
cricket as well as hockey, then how many like

to play all the three games ?

Watch Video Solution

369. In a group of 50 people, 30 like to play cricket,

25 like to play football and 32 like to play hockey.

Assume that each one likes to play at least one of

the three games. If 15 people like to play both

cricket as well as football, 11 people like to play

both football as well as hockey and 18 like to play

https://dl.doubtnut.com/l/_ajmacDek6IUL
https://dl.doubtnut.com/l/_ymKqWaFMMvCy


both
cricket as well as hockey, then how many like

to play only football ?

Watch Video Solution

370. In a group of 50 people, 30 like to play cricket,

25 like to play football and 32 like to play hockey.

Assume that each one likes to play at least one of

the three games. If 15 people like to play both

cricket as well as football, 11 people like to play

both football as well as hockey and 18 like to play

both
cricket as well as hockey, then how many like

to play only hockey ?

https://dl.doubtnut.com/l/_ymKqWaFMMvCy
https://dl.doubtnut.com/l/_iSWJxS08ePI5


Watch Video Solution

371. In a class, 22 students offered Mathematics, 18

students offered Chemistry and 24 students

offered Physics. All of them have to offer at least

one of these. 11 are in both Mathematics and

Chemistry, 13 in Chemistry and Physics and 14 in

Mathematics and Physics and 7 have offered all

the three subjects. Find : how many students are

there in the class ?

Watch Video Solution

https://dl.doubtnut.com/l/_iSWJxS08ePI5
https://dl.doubtnut.com/l/_cNZg9dHGoAm2
https://dl.doubtnut.com/l/_GDLU44vUEXzW


372. In a class, 22 students offered Mathematics,

18 students offered Chemistry and 24 students

offered Physics. All of them have to offer at least

one of these. 11 are in both Mathematics and

Chemistry, 13 in Chemistry and Physics and 14 in

Mathematics and Physics and 7 have offered all

the three subjects. Find : how many students

offered only Mathematics ?

Watch Video Solution

373. A class has 175 students. The following is the

description showing the number of students

https://dl.doubtnut.com/l/_GDLU44vUEXzW
https://dl.doubtnut.com/l/_8UrLW7wDk4qM


studying one or more of following subjects in this

class. Mathematics 100 , Physics 70, Chemistry 46,

Mathematics and Physics 30, Mathematics and

Chemistry 28, Physics and Chemistry 23,

Mathematics, Physics and Chemistry 18 : Find : the

number of students who are enrolled in

Mathematics alone, Physics alone and Chemistry

alone .

Watch Video Solution

374. A class has 175 students. The following table

shows the number of students studying one or

https://dl.doubtnut.com/l/_8UrLW7wDk4qM
https://dl.doubtnut.com/l/_9wSfK4gxYRXB


more of the following subjects in this case. 

 


How many students are enrolled in Mathematics

alone, Physics alone and Chemistry alone? Are

there students who have not offered any one of

these subjects?

Watch Video Solution

https://dl.doubtnut.com/l/_9wSfK4gxYRXB


375. In a survey of 100 students, how many of

students studying the various languages were

found to study : English only 18, English but not

Hindi 23, English and Sanskrit 8, English 26,

Sanskrit 48, Sanskrit and Hindi 8, no language 24.

Find : How many students were studying Hindi ?

Watch Video Solution

376. In a survey of 100 students, how many of

students studying the various languages were

found to study : English only 18, English but not

https://dl.doubtnut.com/l/_XhXS9wc3mSTP
https://dl.doubtnut.com/l/_q9BVzOdggTgJ


Hindi 23, English and Sanskrit 8, English 26,

Sanskrit 48, Sanskrit and Hindi 8, no language 24.

Find : How many students were studying English

and Hindi ?

Watch Video Solution

377. In a survey of 400 students in a school, 110

were listed as taking Apple Juice, 140 as taking

Orange juice and 85 were listed as taking both

Apple as well as Orange juice. Find how many

students were taking neither Apple juice nor

Orange juice.

https://dl.doubtnut.com/l/_q9BVzOdggTgJ
https://dl.doubtnut.com/l/_VTKeQZcEkQXY


Watch Video Solution

378. In a survey of 100 persons it was found that

28 read magazine A, 30 read magazine B, 42 read

magazine C, 8 read magazines A and B, 10 read

magazines A and C, 5 read magazines B and C and

3 read all three magazines. Find : How many read

none of three magazines ?

Watch Video Solution

https://dl.doubtnut.com/l/_VTKeQZcEkQXY
https://dl.doubtnut.com/l/_0VPK2W3I5Uns


379. In a survey of 100 persons it was found that

28 read magazine A, 30 read magazine B, 42 read

magazine C, 8 read magazines A and B, 10 read

magazines A and C, 5 read magazines B and C and

3 read all three magazines. Find : How many read

magazine C only ?

Watch Video Solution

380. In a survey of 60 people, it was found that 25

people read newspaper H, 26 read newspaper T, 26

read newspaper I, 9 read both H and I, 11 read

https://dl.doubtnut.com/l/_nv3Em2fEPPkw
https://dl.doubtnut.com/l/_x9oeOKyRM2rA


both H and T, 8 read both T and I, 3 read all three

newspapers. Find: the number of people who read

at least one of the newspapers.

Watch Video Solution

381. In a survey of 60 people, it was found that 25

people read newspaper H, 26 read newspaper T, 26

read newspaper I, 9 read both H and I, 11 read

both H and T, 8 read both T and I, 3 read all three

newspapers. Find: the number of people who read

exactly one newspaper.

Watch Video Solution

https://dl.doubtnut.com/l/_x9oeOKyRM2rA
https://dl.doubtnut.com/l/_NZvxz7SF4TJJ


https://dl.doubtnut.com/l/_NZvxz7SF4TJJ

